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Comparison of Numeration (oavwe@Eiease 259%)

Tables (95°,e0)

Indian system of numeration | International system of numeration
A Sl A
(&Pt HogrgRano) (HER Hogrgieiso) 11x1 =11 12x1 =12 13x1 =13 14x1 =14 15x 1 = 15
A G Places (Bren) 11x2 =22 12x2 =24 13x2 =26 14x2 =28 15x 2 = 30
Ones (a.8&») Ones (.8é)
11 x3 =33 12x 3 =36 13x3 =39 14x 3 =42 15x 3 = 45
Tens (Soen) Tens (3oen)
Hundreds (So&en) Hundreds (So&en) 11 x 4 =44 12X 4 =48 13 x 4 = 52 BN 15 < 4 = 60
Thousands | Thousands (Fe») Thousands (Seo) 11x5 =55 12x 5 =60 13x 5 =65 MAX S5 =90 15x 5 = 75
Thousand
Sew Ten thousands (56 Sev) o;:n * | Ten thousands (56 3en) 11x6 =66 12%x6 =72 13x6 =78 14%x 6 =84 15% 6 = 90
Lakhs (0% Hundred th ds ($08 3
Lakhs | takhs (ege0) undred thousands (&o8 =ev) 11x7 =77 12x7 =8 13x7 =91 14x 7 =98 15x 7 =105
g Ten lakhs (& oFeo) Millions | Million (00%S)
= 12x 8 = 96 = = -
o oo @ R (o B 11x 8 = 88 13x 8 =104 14x 8 =112 15%x 8 =120
§%en  [Tencrores (%6 &) Hundred million ($0% 8c%i) 11x 9 =99 [12x 9 =108 13 x 9 =117 EEEEEEEENEE 15 x 9 =135
11 x 10 =110 12 x 10 =120 13 x 10 =130 14 x 10 =140 15 * 10 =150
1 &b, = 1000 88mpsven 1 tonne = 1000 kilograms l6x1 =16 17x1 =17 18x 1 =18 19x 1 =19 20x 1 = 20
) ) 16 x 2 =32 17x 2 =34 18x 2 =36 19x 2 = 38 20%x 2 = 40
1806 = 100 8S5mpHiven 1 quintal = 100 kilograms
16 x 3 =48 17x 3 =51 18%x 3 =54 19x 3 =57 20x 3 = 60
1880 = 1000 Frswe 1 kilogram = 1000 grams 16x 4 =64 17x 4 =68 18x4 =72 19x 4 =76 20% 4 = 80
13950 = 100 Jp&nen 1 hectagram = 100 grams 16 x5 =8 17x5 =85 18x5 =90 19x5 =9 20x5 =100
[ d A 4
16 x 6 =9 17x 6 =102 18 x 6 =108 19x 6 =114 20%x 6 =120
1@%eo = 10 pp&ven 1 decagram = 10 grams
16 x 7 =112 17x 7 =119 18 x 7 =126 19 x 7 =133 20 x 7 =140
1o = 1000 2Rpswen 1 gram = Lol miligres 16x 8 =128 17x 8 =136 18x 8 =144 19x 8 =152 20 x § =160
1 ag)gao = 100 &)@Qﬁbw 1 decigram = 100 milligrams 16 Xx 9 =144 17x 9 =153 18%x 9 =162 19x 9 =171 20x 9 =180
. . 16 x 10 =160 17 x 10 =170 18 x 10 =180 19 x 10 =190 20 x 10 =200
1208m@0 = 10 Hppsven 1 centigram = 10 milligrams
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Foreword

The Government of Andhra Pradesh introduced extensive curriculum reforms in school education
from the academic year 2020-21. New textbooks were designed to enhance learning outcomes of the
children with focus on foundational learning. "The more you sing, the sweeter your song becomes; the
more you sing, the best singer you become. Neem-leaf taste changes from bitter to better if you are
regularly used to it. So, practice consistently to become what you want, to get what you want"- Yogi
Vemana. Workbooks are developed to give practice and supplement the textbook with additional
activities related to the textual concepts in a systematic procedure. This workbook is developed to
give ample practice to the student to master the concepts.

Semester system is going to be implemented from this academic year for 1 to 5 classes.
Mathematics workbooks have been developed in bilingual approach. Each lesson in the textbook is
divided into concepts and each concept is provided with a worksheet in the workbook. The concept
taught in the instructional period can be reinforced through worksheets which helps the child to understand
the concept well.

Workbook is developed in continuum with the textbook. In Mathematics, practising the exercises
plays a vital role to understand the concepts. This workbook exercises are more child friendly as well
as teacher friendly to deal with multi-class teaching. The number of worksheets is equal to the number
ofperiods allotted for that unit. Problems given in the workbook are based on real life situations by
following the strategy of simple to complex. Especially word-problems are given importance to inculcate
the interest among the learners. The worksheets are given in such a way that student himself can write
the answer with the help of the concept learned from the textbook.

We are grateful to Honourable Chief Minister Sri.Y.S. Jagan Mohan Reddy for being our
source of inspiration to carry out this extensive reform in the education department. We extend our
gratitude to SriBotcha Satyanarayana, Honourable Minister of Education , Govt. of Andhra Pradesh
for striving towards qualitative education. Our special thanks to Sri. Budithi Rajsekhar, IAS, Special
Chief Secretary, School Education, Sri. S. Suresh Kumar, IAS, Commissioner of School Education &
State Project Director, SS, Smt. Vetriselvi.K, IAS, Special Officer, English Medium Project for their
constant motivation and guidance.

We convey our thanks to the expert team. We also thank our workbook writers, editors, artists
and layout designers for their contribution in the development of this workbook. We invite constructive
feedback fromthe teachers and parents in further refinement ofthe workbook.

Dr. B. Pratap Reddy
Director
SCERT, Andhra Pradesh
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Instructions to Teachers

‘ ¢ This workbook is compiled to help the students to practice the concepts learnt in the classroom. ‘

¢ Teachers need to understand that the number of worksheets are equal to the total number of periods
for every unit.

¢ Everyworksheet is designed to help the students to practice the concepts learnt in that respective period.

¢ First45 minutes for concept teaching and remaining 45 minutes are allotted for the worksheet. If more
time needed, let the learners make use ofthe leisure time at home to complete the worksheet exercises.

¢ The main objective of this workbook is to make the children to work individually rather than in groups.

¢ Here the teacher acts as facilitator and helps the learner whenever it is necessary.

¢ This workbook will be helpful for multigrade teaching. Period transaction for one class and worksheet
exercises for another class. It is a powerful tool to counter the timemanagement problems of multi-
grade teaching.

¢ Worksheets concretise and make perfect understanding ofthe key concepts learnt in the classroom.
It is very crucial in Teaching Learning Process.

¢ [tis helpful for the teacher to identify the areas where the learners need additional support and thus
teachers can work for remedial coaching. It is mandatory to check the worksheet solutions and do
signature.

¢ Worksheets are constructively designed by keeping in mind the levels of the learners and the strategies
followed are simple to complex, known to unknown, and speed and accuracy.

¢ Worksheets can be helpful for the students for selflearning and it is a great tool for teacher to assess
the students for Formative Assessments in CCE.

¢ Attheend of every unit, an Assessment Worksheet is provided to evaluate the student. It is helpful
to estimate the learning levels of the students and to know how well they involve in Teaching-
Learning Process and grasping the concepts.

Instructions to the parents:

¢ Workbooks are given in addition to the textbooks for more practice.

¢ The exercises of the worksheets will be solved in the classrooms by the students, ifthey need some
more time, they will complete the balance of the work at home.

¢ Itisnot only helpful for the teachers to know the students’ learning levels but also helpful for the
parents to know their children’s progress.

¢ Parents can bring the difficulties faced by their kids while solving the problems at home to the notice
of the teachers.

¢ Worksheets are complementary to the concepts thought in the classroom and it should not be done
before completion of the period transaction. Parents should not force their children to complete the
sheets prior to the period-transactions.

¢ Workbook is to make the Teaching-Learning Process fruitful if you are also committed to encourage
your children in a suggested way.

| ¢ Basedonthe remark of the teacher at the end of the page the performence of the student may be
ﬁ*y understood.

ALL THE BEST
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LEARNING OUTCOMES
Unit I: Let’s Recall

Pupil will be able to...
read and write numbers up to 5- digits.
solving problems based on 4 fundamental operations.
solving word problems in daily life.
classify numbers into big —small, ascending- descending order.
using > ,<,= symbols between the given two numbers.
understand expand & shortened form of numbers.
using place value concept in 4 fundamental operations.
round off the given numbers to the nearest 1s/ 10s/100s/1000s.
read a given number & write number name for it .
communicate face value & place value of each digit in given number.
write all numbers using 2/3/4 digits.
solve daily life problems related to addition-subtraction-multiplication-division.
solve word problems based on 4 fundamental operations.
Unit II: My Number world

Pupil will be able to...
e develop number sense in Indian system of numeration and as well as in International
system of numeration.
read and write the large numbers having up to 9-digits using both systems.
rewrite the given expanded forms and number names in standard forms (short forms).
put commas after prescribed places in both Indian system and International system
recognize the period, place-value and face-value of any digit in a number.
form numbers using given digits.
compare any two numbers.
arrange a set of large numbers in ascending and descending orders.
Unit III: Addition and subtraction

Pupil will be able to...
they can do additions and subtractions up to 6 digits.
they know addition and subtraction facts.
they can solv e real life problems involving addition and subtraction.
they can estimate the results.
they understand the concepts of cost price, selling price.
they can do problem solving about profit and loss.
pupils check the addition rules and cumulative property.
Unit 4: Multiplication and Division

Pupil will be able to...
=& Multiply one number with another number.
*¢  Divide one number with another number.
=¢  Estimate products, quotients and verify by solving the problems.
=& Understand the relation between multiplication and division.
*¢  Frame word problems and solve.
Unit S: Multiples and Factors

-

upil will be able to...

Explain the divisibility from 1 to 10 numbers through divisibility rules and solve divisions
with proper reasoning.

Understand the concept of multiples and factors.

Find the multiples and factors ofa given number.

Understand the concept of prime-numbers and composite numbers.

Identify prime and composite numbers up to 100.

Find the LCM and HCF.

Solve the word problems involving LCM and HCF.

333333 3
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1. Let's Recall
&% 3 Sror0

rSub Topic : Word form - expanded form - shortened form

(@é@@eﬁs TPoHe0 - AJBes Erdo - Do) Brdo)

1.

e ® o ¢ .8
amarava R Cher.com
Good

Write the following numbers in words. (©§oros® oeabod.)

a) 9 =

b) 27 =

c) 576 =

d) 8436 =
Write the following numbers in expanded form. (Q38es ErHo TeadHod. )

a) 34 = c) 4745 =

b) 56 = d) 8523 =

Write the following numbers in shortened form. (%085 &rdo Tedo&.)

a) 70+ 6= b) 8000+500+60+5 =

) 200+40+5= d) 10000+800+30+9 =

Write the following in shortened form and words. (X085 87508° oo, @gtres® Trabod.)

a) 2tens 13 ones (2 Hoen + 3 28¢n) =

b) 6 Hundreds + 5 tens +8 ones (6 Soken + 5 Heden + 8 2.8én) =

c) 10 thousands +5 hundreds+6 Tens+ 7 ones =
(10 e + 5 SoBen + 6 Hoen + 7 e.8e0)

Signature of the Teacher

Poor Fair Average Excellent
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1. Let's Recall
&% 3 oo

Sub Topic : Place Value (Fp5De0ss) ]

1.

Poor

O © @ .4..f
https://amaravathite
Good

Write place value of 5 in each of the following numbers. (5 dDensd TecHoé)

) A5 e, d) 5893 = e,
D) 456 = oo, €) 48562 = oo,
©) 8569 =i £) 54123 = oo

Find the sum of place values of 7 in the following numbers. (7 3(;268)@:6@ Sngo Dos?)

8) 7T = e A) 2771 = e,
D) 727 T e €) 7057 = oo
©) 8767 = oo ) 27873 = oo

Find the difference of place values of 6 in the following numbers. (6 3526 Dende B0 Jos?)

a) 66 S errrereeeeeeerre e e e eeearraeaeaas c) 626 S errrereeeereerre e e e eeerraeaeaas
b) 46856 = .o d) 6610 = .

Fill in the blanks. (5°9en $rB0S08.)

a) How many 10s are there in 1000?
(10008° Ay 10 ev &xman?)

b) How many 100s are there in 10007

(10008° ARy 100 eo &myow?)

Fill in the blanks. (5°9en $rB03508.)

a) Successor to 99 = _ b)) Predecessor 1050 =
(58 éosp?g) (S0 éoap?g)

c) Successor to 87 = __ d) Successor to 1579 =
(58 éosp?g) (S0 éoap?g)

o [

aeker.com Signature of the Teacher

Fair Average Excellent
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1. Let's Recall
&% 3 S0

Sub Topic : Making numbers (S0 éédSP&So3d$ac§o)]
1. Complete the following table. (588% g Saod.)
1-digit 2-digit 3-digit 4-digit 5-digit

number number number number number

Smallest
(3))%278 D)

Largest
(08D 2E6)

2. Fill in the blanks. (#9en r80508&.)
a) 9,——,11 c) —5000,5001
b) 99,——,101 d) 6098, 6099,

3. Write all 3-digit numbers using 3,5 and 7.
(3, 5, 7 90 &3@PA0D ToSHROR 3 - wose 260&)?3@3.)

4. Write some 4-digit numbers using 5,6,3 and 2. (4 - ®08® Soggen Teohod.)

5. Fill in the blanks. (z7®en $rB0S0&.)

a) Largest 3- digit number (08 3¢ Sosyg) using 3,7 and 8 =

b) Largest 3- digit number (0&© ¢ Sosyg) using 5,4 and 7 =

c) Largest 3- digit number (08 3¢ Sosyg) using 2,0 and 9 =

© 6 © 0.%2..9
/amarava cher.com Signature of the Teacher
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1. Let's Recall
&% 3 S0

'Sub Topic : Round off / nearest (3300%&0 / Sete} :De;aé)]

1.

® © © .G
httpsslatharavathits

Round-off each of the following numbers to the nearest ten. (&B58 10 o% $580508.)
a) 73 = b) 393 -
c) 1038 =——r d) 4516 -
Round-off each of the following numbers to the nearest hundred. (558 100 ©% J580F0E. )
a) 854 =—— b) 707 =
c) 1451 =——- d) 6567 =
Round-off each of the following numbers to the nearest thousand. (5758 S’ $5603508.)

a) 1345 =— b) 2832

¢) 7569 =— d) 30645 S

When rounding off to the nearest hundred, which range of numbers could be rounded
off to get the following numbers. (808 B5ES Soggesd & &K Sokes Feo wdlyg

éogp‘g %53 o°ono&.)

Example : 700 ; 650 to 699 and 701 to 749

a) 800 ; to and to
b) 2500 ; to and to
c) 15600 ; to and to

her.com Signature of the Teacher

Excellent
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1. Let's Recall
&% 3 o0

Sub Topic : Ascending and Descending Order
(8%5re 0805w ©38%ren (E0)

1. Write the numbers in ascending order. (e8%5es (E008® oraH08.)

a) 5,9,8,71,6

b) 328,951, 111, 357,609

c) 12405, 12504, 13450, 13540, 1111

2. Write the numbers in descending order. (©58%5e (E508° TraH08.)

a) 6,591,8

b) 25, 63,18, 89, 98

c) 156,205,118, 658,568

3. Put the correct symbol (<, >, =) (38 Hen GH@BrAoSoR. )

a) 5——9 b) 1001——1010 ¢) 8100—— 8010

d) 45—>54 e) 1480 ——— 14850 f) 9894 9498
4. Circle the largest number. (08 & Sogxd () H0&08. )
a) 125, 852, 903, 309 b) 4627, 2846, 3847, 9653
5. Circle the smallest number. (08 23 Sogg () H0&08. )
ay 8 5 3, 9, 7 b) 123, 654, 111, 222, 324
c) 8, 76, 55, 80, 77 d) 7058, 7050, 7580, 7500

o ® & @ .. @
amarava hiteacher.com S
Good

Poor Fair Average Excellent

Signature of the Teacher



For All Classes New Text Books Open Below Link
https://bit.ly/all-classes-new-text-books

1. Let's Recall
&% 3 S0

sub Topic : Showing numbers on abacus and number line
(Roggeos ©@rEd ke dogrs 333?.3 BeHE0)

1. Show the following numbers on abacus (Soggesh @erEdP SrHod.)

1 1
{TthiThl HI T | O &4 {TthiThl HI T | O &4
7 85 249

25
25 | i —e— I —
0 10 20 30 40 50
643 I | I I | 1 ] ¢
0 100 200 300 400 500 600 700
000 |4 L4 L
0 500 1000 1500 2000 2500 3000 3500

ol:l @D D
htt
Poor Fair Average

) °
r@aravathit r.com Signature of the Teacher

Good Excellent




For All Classes New Text Books Open Below Link
https://bit.ly/all-classes-new-text-books

1. Let's Recall
&% 3 S0

rSub Topic : Predecessor and successor
(J00&> Jogyg HBs» SBoard Hogg)

1. Write successor of the following numbers. (8558 Soggd Teabod.)

4, 1543, 7010,
69, 36274, 8001,
346, 410, 14099,

2. Write predecessor of the following numbers. (500 Sogy oeabhod. )

, 8 , 2485 , 200
, 71 , 12694 , 5700
, 609 , 30 , 10001

3. Fill in the blanks. (g9e» $°803508.)

13, 1300, 7809,
40, 17410, 4600,
605, 599, 9999,

4. Fill in the blanks. (S»o&d Qogy o°0n0&.)

, 69 ,3001 , 600

, 176 , 14005 , 7000

5. Fill in the blanks. (sren Hr80308.)

, 400, ; , 6500, ; , 1300,

© § © 0.5.0
R /amaravaNeeCher. o Signature of the Teacher

Poor Fair Average Excellent




For All Classes New Text Books Open Below Link
https://bit.ly/all-classes-new-text-books

1. Let's Recall
&% 3 oo

Sub Topic : Addition (E»&%) l

1. Do the following. (808 8%en Babod.)
a) 3+7 b) 71+84 ¢) 508 + 965 d) 700 + 200

e) 3927+6486 ) 7098 +6689  g) 7777 +6666  h) 8908 + 7099

2. Fill in the blanks. (g°9e% $r80508.)

a) 2 b) 35 ) 485 514 6
] 1L R L]

4 6 9 995 7 8 3 4

3. Fill in the blanks. (90 $603508&.)

a) 10,12,14, , ,

b) 300,600,900, : :
4. Fill in the blanks. (gr9e $r6oB0s.)

a) 3+5=———+3.

b) ——+54=54+61.

e v & o8 °
httpsillarharavathitsaghe
Good

, rer.com Signature of the Teacher
Poor Fair Average

Excellent



For All Classes New Text Books Open Below Link
https://bit.ly/all-classes-new-text-books

1. Let's Recall
&% 39 oo

Sub Topic : Addition on number line
‘éoa:‘gésp?g PoBodo
1. Show the addition on number line. (808 &r&Eed Sogrs Tep SrDod.)

5

+3
5+3 TN

v

100+50 | | ; | | ; Is

5+5

v

200 + 50 l | |
0 50 100 150 200 250 300

v

2. Fill in the blanks. grdes $re0S0d.

6 9 2 6 0 0 5 1 5 4 3 2
L] [ i EE NN
79 8 9 0 0 8 2 9 8 6 4
56 2 4 0 5 5 2 5 7 5 2
L] L ujuynin OO
8 9 8 g8 5 2 8 2 8 6 7 4

© @ O 9.5
amarava hiteacher.co
Good

Poor Fair Average
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For All Classes New Text Books Open Below Link
https://bit.ly/all-classes-new-text-books

1. Let's Recall
&% 3 oo

'Sub Topic : Vertical Addition (Qesd €rag) )|

1. Do the following additions. 808 &r&8ed FoHod.

2 8 78609 8020

22 8 8 346 4009

+ 485 8 88 25 28
+8 8 8 8 + 7 + 7

3 4 6459 6235

33 4 4 536 308

+ 375 444 6 4 18
+4 4 4 4 + 9 + 9

2. Write some more additions for the given numbers. 80t aQ)S Sogges HOEQ) Erdd
Erarody Techol.

7+3 75+ 75
15+15
100 + 100

OD @D D D
https://amaravathi
Good

Poor Fair Average
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gr.com Signature of the Teacher
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For All Classes New Text Books Open Below Link
https://bit.ly/all-classes-new-text-books

1. Let's Recall
&% 3 oo

'Sub Topic : Word problem on addition (Brl¥ oo :6:5;:6?3@)]

1. A truck is carrying 4370 kg iron rods. Empty truck weighs 2050 kg. What is the total
weight of truck when carrying iron rods? Answer the following questions.

1. What information is given in the problem?

2. What is to be found in the problem?

3. Which process do you follow to solve the problem?

2.8 (€08 4370 &.(0. 28 Hdod I D. god (€95 228 2050 8. (. ©00d ZOD
RO IR (E5) 2B Dod? 808 (DHOH Jrrraren TPadod.

1. é:ﬁa@g@s DY) Do AE?

2. ééaéegé’s EORPIK0K88 dB?

3. HBEH FHoSERVE D (HIBAH @HROFH?

2. Atruck is carrying 4370 kg iron rods. Empty truck weighs 2050 kg. What is the total
weight of truck when carrying iron rods?

1. How much is the weight of iron rods?

2. How much is the weight of empty truck?

3. What operation should be used to find the weight of truck when carrying iron
rods?

2.8 (€08 4370 &.((. 28 HXd IeRND. god (&5 228 2050 8. (. ©oNd ZOD

RO IR (E9E) 0B dod? 808 (DB JirgrIren Techod.

L 3508 e 8 Q08?

2. o (005 2D Dos?

3. a3 He IrRHDD (L) ) EDFHErIE d BEBD TetHErs)?

® & © 0.5.0
R /amaravaNeeCher. o Signature of the Teacher

Poor Fair Average Excellent




For All Classes New Text Books Open Below Link
https://bit.ly/all-classes-new-text-books

1. Let's Recall
&% 3 S0

'Sub Topic : Word problem on addition (&8 Tod :6:5;:6?3@)]

3.

Poor

® © @ 6.6
https://z aravathit
Good

A truck is carrying 4370 kg iron rods. Empty truck weighs 2050 kg. What is the total
weight of truck when carrying iron rods?

Weight of iron rods =
Weight of empty truck =

Total weight of truck when carrying iron rods =
2.8 (€08 4370 8.0 28 Hdod IeRND. god (€05 228 2050 8. (. ©00d ZOD
RO IR (£95) B Dod?

B0D DR WY =
g (%) D =
BN T IR (LE) 2B =

A truck is carrying 4370 kg iron rods. Empty truck weighs 2050 kg. What 1s the total
weight of truck when carrying iron rods?

2.8 (€08 4370 &.(0. 28 Hdo IeRND. god (&5 228 2050 8. (. ©00d JOD
RO IR (5 B dod?

) [ 13 ]

er.com Signature of the Teacher

Excellent

Fair Average



For All Classes New Text Books Open Below Link
https://bit.ly/all-classes-new-text-books

1. Let's Recall
&% 3 oo

'Sub Topic : Word problems on addition (£»& 2 oo 265:2623@)1

1. Jaya has = 4500. Babu has ~ 500 more than that of Jaya. How much money is with

Babu ?

2300 DB T 4500 626&8). eren S8 2305 S Bo& ~ 500 aéagé €T2)00. ©oNd eren H&
Q (9] Q Q

&) @“éaaé Do&?

2. There are 265 boys in a school. 12 girls are more than that of boys in the school. Find
the number of girls in the school.
2.8 FBToE® 265 L0 Pendd GIND. wrendd o8 @ FETeE® erd8e 12 KHob JBS
G, @ FETed® are rd8s 0Po Jod ?

()
m Signature of the Teacher

Excellent

o @ O 9.5
amarava hiteacher.co
Good

Poor Fair Average



For All Classes New Text Books Open Below Link
https://bit.ly/all-classes-new-text-books

1. Let's Recall
&% 3 S0

'Sub Topic : Word problems on addition (E&r&8 2 oo 265:&5@;)1

3. Inamandal there are 9958 male voters. Female voters are 526 more than that of the
male voters. Find the number of female voters.
2.8 Hoeos® 9958 H0d HBR W Nley) éa&&. & Soodeos® HHR W NTe] o0& 526 L0
So8ege L8 JENH G, Wand & HoKoS Y HsrEe .68 JoBK?

4. Jahnavi travelled 625 km. Govind travelled 19 km more than that of Jahnavi. Find the
distance travelled by Govind.
e 625 8.8, &rdo (HosrdoRod. FoE, i Eo& 19 8.8, s FHSrdomrd.

P08 ([HOiren BIS B0 SR,

¢ @.0.0 ©
o hitps:/lar aravathitSagher.com Signature of the Teacher

Poor Fair Average

Excellent



For All Classes New Text Books Open Below Link
https://bit.ly/all-classes-new-text-books

1. Let's Recall
&% 3 oo

'Sub Topic : Subtraction &3 ]

1. Do the following. @80 Sc5H0&.)
a) 9 b) 34 ) 500 d) 4857 &) 5678
-2 -13 -243 - 2856 -

— — - S 185

2. Do the following. (29 FcHos.)
a) 8-2 b) 3925 c) 405 -206

d) 3050 - 1050 e) 6000 -2000 f) 7864 -7623

3. Fill in the blanks with suitable number. £33 Soggo&® grdoy FrooSos.

ele

© & © 0.2.90
h¥ps+//amaravathitedcher.com Signature of the Teacher

Poor Fair Average Good Excellent




For All Classes New Text Books Open Below Link
https://bit.ly/all-classes-new-text-books

1. Let's Recall
&% 3 S0

Sub Topic : Subtraction on number line, vertical addition
Qo 333';’.3 E13E, Jend 823
4. Show the subtraction on number line. (82380 Sogry T wreHod.)

10

v

10-4 U 5 5 4 5 e s 5w
-4

05 44—

0 5 10 15 20 25 30 35 40 45 50 55
5. Fill in the blanks. (808 geden 80508, )

6 2 4 6 0 8 0
- L0 O - U
51 2 40 20

6. Do the following subtractions. (808 &23&en» FcHos.)

342 6 028 5000
- 289 - 109 - 5

7. Write more subtraction facts. (8o a9)8 Sogge HOE°Q) ddIBen T°cHod.)

30-5 100 -0
(571

@ @ 4.9 @
o hitpSeenaravathit r.com Signature of the Teacher

Poor Fair Average Excellent




For All Classes New Text Books Open Below Link
https://bit.ly/all-classes-new-text-books

1. Let's Recall
&% 3 oo

'Sub Topic : Word problems on subtraction ($23ge3 oo é:éo:éege»)]

1. Sum of two numbers is 6230. If one of them is 1278, find the other number.
Bod ‘éospée o 6230. 00t 2.8 éoaa?g 1278 ©ond Bokd }60&)?3263 E0AP0m.

2. 4583 students appeared for SSC examinations in a mandal. If 102 students have failed
among them, how many students have passed ?
28 Srodeod® 105 &8558 éégiéa 4583 5008 FPehH wonTed. wond 102 Hod ‘o’aééés
B0, XD @A DTrgthen JoLKn?

3. Annapurna has = 9580. If she paid ~ 5600 to buy blankets, how much money is left
with her?
OXRIE S~ 9580 aTow. & )y FXE8 T 5600 pty) BRob. wand e $ HADS
P55 Dod?

()
m Signature of the Teacher

Excellent

© @ O 9.5
amarava hiteacher.co
Good

Poor Fair Average



For All Classes New Text Books Open Below Link
https://bit.ly/all-classes-new-text-books

1. Let's Recall
&% 3 oo

'Sub Topic : Word problems on subtraction ($23ge3 oo é:éo:éege»)]

4. Suguna wanted to buy cotton seed bag which costs = 5700. The government has given
subsidy ~ 1250 on cotton seeds. How much money, does she pay to buy it?
0es, (8 DETre KoY T 5700 B E°XKON0H. (HgheEo et HE D&re VoL ~ 1250
SENG (05Fo00D)) BTN, @R TEY FKEr8 Jod iy BYoTO?

5. In a Panchayat election 1645 votes are polled in a village. If 107 votes are invalid

among them, find the number of valid votes.
o8 Homrond PSS’ 28 o’ 1645 &in DS wovmran. wond &S 107 &y 69

WONTPOD. BePeren G ¢y Doggd SAPKKD.

¢ @.0.0 ©
o hitps:/lar aravathitSagher.com Signature of the Teacher

Poor Fair Average

Excellent



For All Classes New Text Books Open Below Link
https://bit.ly/all-classes-new-text-books

1. Let's Recall
&% 3 oo

'Sub Topic : Word problems on subtraction $&38e3 oo é:éo:éese»)]

1. To get 9500, how much we need to add to 3650 ?
9500 Trerd8 36505 Nod Eoard?

2. The capacity of a water tank is 1000 It. If there is 658 It of water already in the tank,
how much water is needed to fill the tank?
8 ) ergod Fgio 1000 Dot a8 F¢ e ergons® 658 dwy Ao ¢o8 ergod
D0HEPI8 Bo5° Do DB ©5380 ©9HE0H?

3. Valli wanted to buy a freezer. It's cost is =~ 9500. But Valli has ~ 8250. How much
amount is needed to buy the freezer?
59 28 B Forottod. ol bk © 9500. 5 £§ 5§ © 8250 avow. © (Had
E3er8 e 205° Jod iy @SdBo?

()
m Signature of the Teacher

Excellent

© @ O @.5
amarava hiteacher.co
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Poor Fair Average



For All Classes New Text Books Open Below Link
https://bit.ly/all-classes-new-text-books

1. Let's Recall
&% 3 S0

'Sub Topic : Word problems on subtraction (B238e0D T éaso:éege»)]

4. An auditorium has 1000 chairs. 658 tickets are sold. Calculate the tickets that are yet

to be sold to fill the auditorrum?
a8 ©&&°80008° 1000 Hdjen SoH. a8 Ser (HEGKEH 658 B8ty wdrasmgon.
@ ©&&*Baho FrE™ Dot Jose A BSky wird?

5. Govardhan has to travel 549 km. He travelled 532 km on train. Calculate the distance
yet to be travelled.
ﬁségﬁ 549 8.8. &r8o (HASrBosdod e, ©dk 532 8.8. &rdo Bend [HAirBori.
5080 @S (DAPHoTO)S Krdo Qok?

¢ @.0.0 °
o hitps:/lar aravathitSagher.com Signature of the Teacher

Poor Fair Average

Excellent



For All Classes New Text Books Open Below Link
https://bit.ly/all-classes-new-text-books

1. Let's Recall
&% 3 oo

Sub Topic : Word problems on addition and subtraction
Er8% $8cn 813ZeD o8 Dorgen

1. Find the sum of 3850 and 1675. Subtract 2580 from that total.
3850 08050 1675 © Iwdo Hod 2580 L E1JcHKw.

2. Murthy had ~ 1950. His mother gave ~ 1200 on his birthday. He spent ~ 2150 for shoe.
How much money is left with him?
S8 ¢ " 1950 a0, 89 DES S @82 89 ~ 1200 3000, @8 ~ 2150 K e
2 9y V0. BHPH 0B BE &F) HADS Pk Jod?

@ O 9.5
amarava hiteacher.co
Good

Poor Fair Average
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m Signature of the Teacher

Excellent




For All Classes New Text Books Open Below Link
https://bit.ly/all-classes-new-text-books

1. Let's Recall
&% 3 oo

Sub Topic : Word problems on addition and subtraction
Er8% 585w 813ZwD o8 Dorgen

3. A high school strength was 652. If 113 students were admitted in 6™ class in this year
and Head master issued 101 T. C*s for 10™ class students. Find the number of students
in the school right now.
a8 eS FBoT 652 Hood @w;gd@ne» SO0, S8 Do Bo 65 $858S® 113 Hrod
DT (HRE0 FroTetd. HBake 105 S8K8S° 101 50b wgies abd BHigeen BoddTns.
8o © edd Fdos® &l DTegBoe Kogyy B0,

4. A train started with 1250 passengers. If 65 passengers entered into the train and 74
passengers got down from the train in next station. How many passengers are there in
the train ?

28 Bew 1250 £08 HErdHes® achentdod. $8ard JBWE® 65 Lod Jst. 7408
BT, 8 @ Bens® &) DAPBHBoLEH?

¢ @ .g.8 ®
o http Sl aravathitsager.com Signature of the Teacher

Poor Fair Average

Excellent




For All Classes New Text Books Open Below Link
https://bit.ly/all-classes-new-text-books

1. Let's Recall
&% 3 oo

Sub Topic : Multiplication (zi:sasvéo)]

1. Do the following. (8c& feaseoren TcH08)

a) 63x2 b) 48x4 c) 48x67 d) 78x89
e) 567x5 i) 508x56 k) 980x54 I) 480x90

2. Fill in the blanks. (J8&0S éospée;és HrdoHod.)
; /

()
m Signature of the Teacher

Excellent

2 @ O @.5
amarava hiteacher.co
Good

Poor Fair Average



For All Classes New Text Books Open Below Link
https://bit.ly/all-classes-new-text-books

1. Let's Recall
&% 3 oo

Sub Topic : Multiplication with 10, 100, ...fill the series
(10, 100 .... ©8° Hessedo)

1. Do the following multiplications. (eeseTrely FcHos.)

20 +5
X
25x3 60 |15 3 =60+15=75

37 x4

2. Do the following multiplications. (B8o& feaseorescen Z0%08.)

7 x 10 = ; 6 x 10 = ; 6 x 200 =

34 x 10 = : 75 x 100 = ; 37 x 300 =_

3. Fill the series. (Esrod FrdoSo&.)

5, 10, 15, ) ) > )

200, 400, 800, , ; ) 5

2 x12 1 x36 64 x 1

OD @D D D
https://amaravathi
Good

Poor Fair Average

i (25
gr.com Signature of the Teacher

Excellent




For All Classes New Text Books Open Below Link
https://bit.ly/all-classes-new-text-books

1. Let's Recall
&% 3 oo

'Sub Topic : Word problems on multiplication (fes8o Folkead é:éaéege:a)]

1.

© @ O 9.5
amarava hiteacher.co
Good

A pension holder gets a pension of ~ 9950 per month. How much pension will he get
in 1 year?

1. What information is given in the sum?

2. What is to be found in the sum?

3. Which operation do you select to solve the sum?

2.8 558 J0H 9950 IS ForH&HTND. @and 1 $05E)508° @8 FPobS InFo DI
Do&? (1 Jod&Bo = 12 Jeoen)

L 3R 2626):6?3@38 A SHeaesSo [TNB?

2. a3 ééaé?gés A EHOFTO?

3. DTS FHOSERIE D (HEAHKD TTD?

A pension holder gets a pension of ~ 9950 per month. How much pension will he get
in 1 year?

How much pension does he get per month?

How much pension will he get in 1 year?

To get pension in 1 year what should he do?

2.8 558 J0H 9950 IS FotHHTND. @and 1 $058)508° @8 FPohS InFo DI
Do&? (1 Jod&Bo = 12 Joen)

%50 Joaed Do 335&5 Poto&EHTND?

@& 1260&665“)62533@38 o& PoHEeH?

1 éo:ﬁé{géoés Pos 332\‘315 o5erQ8 050 Do BO5ed?

()
m Signature of the Teacher

Poor Fair Average Excellent



For All Classes New Text Books Open Below Link
https://bit.ly/all-classes-new-text-books

1. Let's Recall
&% 3 S0

'Sub Topic : Word problems on multiplication (ibesedo 2 oo& :6:5;5?3@)]

3. A pension holder gets a pension of ~ 9950 per month. How much pension will he get

in 1 year?
Pension per month = 79950
Total pension in 1 year = " 9950x12=

2.8 558 J0H 9950 DIS FotH&HTND. @and 1 $058)508° @8 FPohS InFo DI
Do&? (1 Jod&Bo = 12 Joen)

o IS = 9950

1 Sod&)8os® amwdo XS = 9950 x 12 =

4. A pension holder gets a pension of ~ 9950 per month. How much pension will he get
in 1 year?

Pension per month = ~

~

Total Pension in 1 year = ~ X =

2.8 558 J0H 9950 DIS ForHEHTND. @and 1 $058)508° @8 SPobS InFo DI
Do&? (1 Jo&Bo = 12 Joen)

o IS =

~

1 26025@%6065 Swgo 332%5 =" X =

5. A pension holder gets a pension of ~ 9950 per month. How much pension will he get
in 1 year?

2.8 558 J0H 9950 IS FPotHHTND. @and 1 $058)508° @8 SPotS InFo DI
Do&? (1 Jod&Bo = 12 Joen)

OD @D @D D
https://amaravathit
Good

Poor Fair Average
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For All Classes New Text Books Open Below Link
https://bit.ly/all-classes-new-text-books

1. Let's Recall
&% 3 oo

'Sub Topic : Word problems on multiplication (ibesedo 2 oo& :62-.636?3@)]

1. Cost of 1kg prawns is ~ 350 and cost of 1kg fish is = 150. If Geetha purchases 2 kg

prawns and 3 kg fish, how much amount does she pay?
1 8.(r. &aige 8 ~ 350 Hodain 18. (. e 8 150. AS 2 8., &chgen, 3 8.(.

BHen o8, @ BYoTD gy Dos?

2. Cost of a chair is ~ 550. Cost of a table is =~ 1550. If Suresh purchased

3 chairs and 3 tables, find how much amount did he pay?
1 éoé‘) 88~ 550, 1 8end &8 ~ 1550. $B% 3 éoél)e», 3 5&35\) 08, & RO

Sodo oy Dod?

()
m Signature of the Teacher

Excellent

© @ O 9.5
amarava hiteacher.co
Good

Poor Fair Average



For All Classes New Text Books Open Below Link
https://bit.ly/all-classes-new-text-books

1. Let's Recall
&% 3 oo

'Sub Topic : Word problems on multiplication (ibesedo 3 oo é:éoéege:a)]

3. The cost of 1 It milk is ~ 50. Cost of 1 It curd is =~ 60. Find the total cost of 2 It milk

and 2 It curd.
1 &% ro §8 °~ 50. 1 deddhd 1BrH 8 ~ 60. @ond 2 Head dren HBAM 2 Herd B

IS0 5B Do&?

4. The cost of one shirtis ~ 650. The cost of one trouseris = 750. Find the total cost of 2

such shirts and 3 trousers.
a8 BA% §8 © 650. a8 Smgoen $8 750, wond 2 & dfen, 3 Aotwe Bngo §E oB?

i [ 29
gr.com Signature of the Teacher

Excellent
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For All Classes New Text Books Open Below Link
https://bit.ly/all-classes-new-text-books

1. Let's Recall
&% 3 oo

'Sub Topic : Word problems on multiplication (ibesedo 3 oo é:éaéege:a)]

1. Costofafanis  950. Costofa Sofais 10 times the cost of the fan. What is the cost of

the sofa?
2.8 aRg §8 T 950. DI §8 o K8 o8& 10 By QEND Gob. VP B EAK0s.

2. Ramana has =~ 855. Sireesha has 8 times more than Ramana. Find the amount Sireesha

has with her.
B0es zécg "~ 885 aaow. 38% zétg Edoee Bo& 8 [} aé)&zé @vm& 626&&. 38% Eétg 626&

Fb“ééaa& ERPK08.

()
m Signature of the Teacher

Excellent
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Poor Fair Average



For All Classes New Text Books Open Below Link
https://bit.ly/all-classes-new-text-books

1. Let's Recall
&% 3 oo

'Sub Topic : Word problems on multiplication (fbesedo 3 o0& é:éoéege:a)]

3. There are 185 Guava trees in a garden, Mango trees are more than 2 times the number

of guava trees. Find the number of mango trees.
o8 80 185 rd Bey eTmow. @ e Lrdd Beyp, DY Lo 2 Béy JEPD

Gow. @ S0E* Srhd Béy Sogy BXAKow.

4. Somu’s pensionis = 2250 per month. If Ahmad’s pension is thrice that of Somu, find

the pension of Ahmad in that month.
55 BwE) DIYP Py T 2250 ©5E GE) DIS B0 3 Béy ©ond @lbd DISD

ERCK0&.

¢ @.0.0 ©
o hitps:/lar aravathitSagher.com Signature of the Teacher

Poor Fair Average
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For All Classes New Text Books Open Below Link
https://bit.ly/all-classes-new-text-books

1. Let's Recall
&% 3 S0

rSub Topic : Division (e;°21§:560)]

1. Do the following. (@%eo Bcod.)
a) 69+3 b) 459 ¢) 408+7 d) 905-8

e) 385+10 f) 689+11 g) 794+12 h) 878+13

2. Fill in the blanks. (885 éoaoée)és HrdoBod.)

lofo
als

© & © 0.5.0
h¥ps+//amaravathitedcher.com Signature of the Teacher

Poor Fair Average Good Excellent
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For All Classes New Text Books Open Below Link
https://bit.ly/all-classes-new-text-books

1. Let's Recall
&% 3 S0

Sub Topic : Expecting remainder, mind map of division (geiis$50, %qu)]

1. Expect the remainder, with out doing division. (ser5erd) &ssroLod.)

a) 300 =+ 10 Remainder (eri5500) =
b) 810 =+ 100 Remainder =
c) 5002 = 100 Remainder =
d) 6010 = 100 Remainder =

2. Fill the blanks. (578 8o $rg Dahod.)

a) | |+ 3=6 ;5 [ |+15=90 ; [ |+10=80

b) 15 <[ =5 5 150=[ |=50 ;200 <[ |=4

3. Fill the series. (E&red $r8 S0908.)

a)64 , 32, 16, , , , b) 625,125, 25,

4. Write more division forms. (g55388 Sxearen TeaHod.)

100 + 10 50+2
O

e v & o8 ®
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1. Let's Recall
&% 3 oo

Sub Topic : Word problems on division (gri&880% oo ééoéege»)]

1. Abook contains 195 pages. If Krishna can read 13 pages per day. How many days will
be required to complete the book ?

2.8 HRBo® 195 1fen BoH. 8% S 13 fen IBSK0%. HIBo SBHErS )
SPeren HeHod?

2. Abus can travel 9 km with 1 / of diesel. How many litres of diesel is required to travel
504 km ?
&8 @) 1 Dk Eass® 9 8.8. drdo (BSrBB00. & aky) 504 8.8, HoSrBosdod
aob. ) Oy dad wsddo wHBH0H?

3. How many weeks are there in a year?
1 5058808° AR aTren oéran?

()
m Signature of the Teacher
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1. Let's Recall
&% 3 oo

"sub Topic : Word problems on division (gr8&880% oo ééaéege:a)]

4. Inpolio vaccination campaign, 2 ml medicine is used for 1 child. If 2700 ml medicine
1s used in a town, find the number of children who received the polio drops.
OTe SolEod® 1 1uard8 2 0.9, ok e@PAoTR. & SPEIEITIS a’aeca)eaoé‘g
2700 0.D. 00 SBHDBPAD, o8 Hobd Lged OB HEE0 DATPACEHTNG?

5. Product of two numbers is 342. If one of them is 18, find the other number.
8o Hogge ©80 342. 78S o8 Qogy 18. Bo&S Hogygo BR[04,

¢ @.0.0 ®
o hitps:/lar aravathitSagher.com Signature of the Teacher

Poor Fair Average
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For All Classes New Text Books Open Below Link
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1. Let's Recall
&% 3 oo

'Sub Topic : Word problems on division (ziis$80% o°& ézéoéege:a)]

1. ~ 625 is distributed equally among 25 members. How much amount does each one
get?
25 £0H8 dhrbdore ~ 625en HoSDEID. (H8 2.8)08 Y oy Dod?

2. 135 students are arranged equally in 5 rows. How many students are there in each

row?
135 2008 durgtownd 5 S5 dsrdore QB0 2:8Nob. (08 SB3S Qo Koo Rapferts

SIN?

()
m Signature of the Teacher
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1. Let's Recall
&% 3 oo

"sub Topic : Word problems on division (iis$80% o°& 626;6503)]

3. Seating capacity of a bus is 45. 135 persons want to go on a tour. How many buses are

required ?
e.8 )8t 45 deyp eImom. 135 od a8 ESISISRINIY 5@;)658)?3_00, ©erof) D) A BII50

©HT°0N?

4. The cost of an entrance ticket for an exhibition is ~ 15. How many tickets can be

purchased with ~ 705 ?
a8 (HEGEe (HIE &8 $8 15, wand "~ 705 & A EBed SI5L0?

i @D
gr.com Signature of the Teacher
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1. Let's Recall
&% 3 oo

'Sub Topic : Addition and subtractions of like and unlike fractions
JeP8, ePd PP JSosodo - HR¥to

1. Do the following. (2 PFcHod.)

+

o
p—
WA »n|w oo~

+

o
p—
Wl oo

+

o
p—
W | —

2. Fill in the blanks. (8o& grden QoLod.)

_ .2 _ 4
2) 6 "6
b l_|_ _é
)8 o -8

N _ 3
) — +— 2

3. Do the following. (29 FcHod.)

8 7 _
Y 0" 10

D92
)11_11 a

c) -—¢ =

© & O 0.%..9©
/amarava cher.com Signature of the Teacher
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1. Let's Recall
&% 3 S0

"Sub Topic : Addition and subtractions of like and unlike fraction
JePs, P8 PP JSosodo - HR¥to

4. Fill in the blanks. (Bo&® geden QoLod.)

10 _1
D ~ 7
" 2 _4
) — 8 -8

3 _2
9 —7g 8

2
5. Guna read 5 th of pages in a book . How much part is yet to be read to complete the

book?

Part of the book read ettt tteereteeeenerennerneareraasanaasaanaarannnsenes

Part yet toberead 0 E e —————

..........................................................

2
s a8 HXBos® géoééa Do SOTD. HVEo I VLTS BOS® Jod FRre) WS
B0 ?

5E0S® $BDS Feio e
D80S mose SOV griio ettt ettt benens

.........................................................

¢ .98 ®
o hitp e aravathitSaker.com Signature of the Teacher
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1. Let's Recall
&% 3 oo

"ASSESSMENT ]

1.

Write the following in expanded form.

a) 6283 = b) 70893 =

Write the following in shortened from.

a) 10,000+ 2000+700+10 + 5=—— b) 10,000+ 700 +4 =

Place value of 5in a) 2567 b) 52370 c) 32584

Write the biggest and smallest 5- digit numbers.
Round off 78156 to it's a) nearest tens b) nearest hundreds c¢) nearest thousands.

Write these numbers in ascending order: 45021, 96420, 58479, 52479

Use <, >, =

a) 41562 —— 41652 b) 50241

89520 c) 41235 —— 41235
Do the following

a) 3691 + 9658 b) 4238 -3127

& O 0.6
R /amaravaNeeCher. o Signature of the Teacher

Poor Fair Average Excellent




For All Classes New Text Books Open Below Link
https://bit.ly/all-classes-new-text-books

1. Let's Recall
&% 3 oo

by S80% |
1. 808 8 JdBes ErHos® Troos.

®) 6283 = &) 70893 =

2. 808 A 08 ErHost Trabod.

®) 10,000+ 2000+700+10 + 5= —— &) 10,000+ 700 + 4 =

3. 808 &St 5 Do) 3326 Qend TecHod: ®) 2567 )52370 =) 32584

4. 5- ®o08® 33(‘,65) Dogyg 0B DY) Dogge o008,
5. 781565 3580%08: ) tﬁ?(j@ S IAVISISY) ) tﬁ?é@ Joded v) éga S

6. 2O Soggod wbin EHos® Trahod: 45021, 96420, 58479, 52479

7. <, = HQO%H GIBRA0N, [OS Dogge edo S¥e)od.

®) 41562 —— 41652 es) 50241 89520 2) 41235 —— 41235
8. 806 ToHo&.

®) 3691+9658 &) 4238 -3127

OD @D @D D
https://amaravathi
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Poor Fair Average
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1. Let's Recall

&% 3 oo
ASSESSMENT ]
9. Do the following: a) 398 x 34 b) 543 +67=

10. Do the following : é+2— b 6. 2

. Do the following : a)99— )15 5
11. Kavyahas ~ 7980. Deepika has ~ 1500 less than Kavya. Calculate the amount at Deepika.
12. Stiching charge for a uniformis ~ 175. If there are 89 students in a school find the total

stiching charge for all uniforms.
13. Product of two numbers is 580. If one of those numbers is 5, find the other number.
1 : . L

14. Seetha ate — th part of a pizza. Find the part of the remaining pizza.

OD @D “sm .|!;D
amarava hitedcher.com™<
Good

4

Excellent
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For All Classes New Text Books Open Below Link
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1. Let's Recall

&% 3 oo
by S80% |
9. 1) Bohod: ©) 398 x 34 &) 543 +~ 67 =
10. ® Jc5Hod )§+2— )i—l—
. B o& : © 9079~ 5
11. S°2>6?S é(g T 7980 &szom. HY Eécg S'°é?3 étg év& © 1500 ééa&:é €T2)0m. ond BV aﬁfg

&) @“éaaé Jo&B?

12. a8 c%edaro SIS Eod © 175, a8 FEos 89 Lod 3)55‘;36@)@0&3 o) Crdaroe
éaéchéﬁg) S0 Do&?

13. Bo& éosp?go ©80 580. ©on&® 2.8 ‘éoap?g 5 @and Bo&d ‘éoap?g E0RPK508.

$ =) eSS l é o, 68 9
14. 28 2.8 e 425 grifo 8B, wons & epd” Hose ADY grPio Dos?

) (43
o @ @ htt;’xaravathlt Sher.com Signature of the Teacher
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e mm————— 2. My Number World
D 0045 D60

"Sub Topic : Number Naming (Rogge DB T°eHEo)

1. Observe how 10,000 (ten-thousand) is shown in different forms:-

10,000 (563en)H Heo Dgrenr der TPaDDHS) HEpEn:-
10000 ones 1 ten thousands
(8e9) (H6Fe0)

10 thousands
1000 tens Seo)
(oen)

100 hundreds
(Soten)

2. In the same way, let’s try different forms for 10,00,000 (ten-lakh)
10,00,000(H80Fe0)8n Hen dgrenre TPdDod.

Ones (a.8¢0)

tens (Hoen) hundreds (So&en)

10,00,000 ._  Ten-lakhs
(P8 ogen)

thousands (Fex)

___ten thousands lakhs
(58 Je0) (08e»)

()
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D P04 D60

~

Sub Topic : Number Naming (Sosge 2% o'°o‘5;c£o)]

3. Write the number names for the following numbers. (8086 Sogged wgores® orabod.)

)

2)

3)

4)

S)

6)

2,00,000

4,61,000

5,27,694

52,25,614

12,26,312

6,72,314

@
htt

Average

@ ®
aravathit r.com Signature of the Teacher
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2. My Number World “am—————————
D P04 D60

"Sub Topic : Number Forms ]

We can write a number in various forms as follows.....
For example : Consider a number 32,68,395
32,68,395  =32,68,395 ones
=3,26,839 tens 5 ones
= 32,683 hundreds 9 tens 5 ones
= 3,268 thousands 3 hundreds 9tens 5 ones
= 326 ten thousands 8 thousands 3 hundreds 9 tens 5 ones
= 32 lakhs 68 thousands 39 tens Sones

= 3 ten lakhs 268 thousands 395 ones ...... etc

By observing above example, fill the blanks with suitable numbers :

47,38,263 = ones
= tens ones
= hundreds tens ones
= thousands ~ hundreds ~~ tens  ones
= tenthousands  thousands  hundreds  tens  ones
=  lakhs  thousands =~ tens  ones
=  tenlakhs  thousands  ones...... etc

o & ¢ @.¢..
amarava hiteacher.co
Good

m
Poor Fair Average
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For All Classes New Text Books Open Below Link
https://bit.ly/all-classes-new-text-books

2. My Number World s ——————
P PO SO0NSN 0 RS

wodo : Logrgsraren ]

f

ABT® 2.8 Doggd Den et 8ob Forr HEBBEHLD).
&PSPEH% 1 32,68,395 o3 éosp?gséa &o8omro.
32,68,395 = 32,68,395 a8y,

= 32,68,39 Hthen 5 audey.

= 32,683 Soen 9 Hethen Ha.8én.

= 3,268 Jen 3 Hoen 9 Hen 5 8.

= 826 H0Jen 8 Jew 3 Hokew 5 eBéy.

= 32 ofen 68 Jen 39 HBen 5 a.de.

= 3 Hoeden 268 Sen 395 a.8ey ... Wil

2 eSS 10009, ob Tdeod 260895058 Sroolod.

’ 47,38,263 = e.8en. |
= Hoen 2u8e)
= Sdoen  Hoen 2B
= Sen  Hoden  Diden  aBey.
= HEFen Sen Sdoken  Hen 2B
= ofw Sen Heven e.8en.
= D8 o Sen e.8en.

OD @D D D
https://amaravathi
Good

Poor Fair Average
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2. My Number World S
D P04 D60

e

Sub Topic : Number Forms (o 9% Sseom 45556550 |

1. Answer the following questions (808 (&% aaranen TeaHod).
a) Write any five numbers having any 5 different digits, between 10,000 and 1,00,000.
0 B I o8& DB)10,000 HBEn 100,000 Ky Ko B 0@ Soggod
oeodo’.

b) Write any five numbers having any 6 different digits, between 1,00,000 and
1,0,00,000.
©d S I ®o80&° HBYH 1,00,000 58cS» 10,00,000 Lnigie R 05 Soggen
orodo’.

2. Write the following in numeral form (& 8o& &8 Qogrg ti)vé)vébol oe0H08).

a) Three lakh, forty four thousand, nine hundred and fifty =

200t ©F, J0g Teenrd S, AV Sode & =

b) Eight lakh, eighty thousand, eight hundred and eighty eight

VDB ©F®, A6 30, AW Soke DJB A =

c) Twelve lakh, thirteen thousand and fourteen =

DO ©FL, DD Jo, D0 =

© @0 O @.%
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2. My Number World s
D P04 D60

'Sub Topic : Number Forms (Sogg 925 Sseenr S5555650))

3. In an election, two candidates contested in a parliament constituency, the winner got
10,25,451 votes, his opponent got 9,85,428 votes and 10,257 votes are invalid. The
total votes polled are 20,21,136.

a) Votes polled to the winner (in words) =
b) Votes polled to the opponent (in words) =

c) Total no. of votes polled (in words) =

2.8 6% 3;@50% 2003 aé’b&éés BH JgEen ooN) . RONS @aj?ggé 10,25,451 &.¢n
& (HSE08 9,85,428 &ty Humyow. B085 10,257 Ly BRII. ©ond IS0 DB L.60
20,21,136.

©) NODS o508 TS &y (¥ETrod).

©) L83 o508 PSS 8.t (FTres®).

8) SwBo PBTS Len (oBored®).

o @ @ httaravathit -
Good

: er.com Signature of the Teacher
Poor Fair Average

Excellent



For All Classes New Text Books Open Below Link
https://bit.ly/all-classes-new-text-books

D P04 D60

'

Sub Topic : Number Forms (Sogg e‘éo‘53°<533o‘5x$o)]

1. Wirte one crore in different ways (D¢ Sseenre a8 &&);

ones (2.8¢»)

tens (5¢oen)

hundreds (Hoen)

1,00,00,000 thousands (Jen)

ten thousands (5&3en)

lakhs (28)

ten lakhs (5& ©gen)

crores (8%¢x)

2. Fill in the blanks (g% $r803508).

99,99,999+1 1,00,00,000

+1 10,00,00,000

+1 Hundred-crore

© @ © 0.5.0
h¥ps+//amaravathitedcher.com Signature of the Teacher
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2. My Number World s ——————
D P04 D60

"sub Topic : Number Forms (RBoggo é§053'°<5o3o‘53c‘£o)]

3. Rewrite the following numbers in standard form using commas according to Indian
system of numeration.
&rodr HogrgErard) ©@ddod, & 80b Jogge BnE) (@PSrBE Srald), sedren
&OABrA0D) TRAHOE.

a) 54178512 =

b) 164125216 =

¢) 374527234 =

d) 504829123 =

e) 900042941 =

4. Write the following numbers in words (8 808 Sogge ©wgores® Trabod).

8)  4,58,63,245 oot e e e s e
................................................................................................
D) 10,25,30,800 = cooooeeeeeeee et eee e eee et e e e eenens
................................................................................................
) 18,27,64,125 S oottt e e st

................................................................................................

‘)'; 51
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2. My Number World S
D P04 D60

'Sub Topic : Data handling in numbers (&a°0¥ J8Eees) ]

The population of some states in India, as per 2011 census. The following is the table.
2011% D058)B80e® DEBOVS avrgr BHo (HSeE0 @) olefe ey ST 80d o“aééées‘s
B0 2:0A08.

S.no States Population
S50 @@gw 22 QXTON
1 Andhra Pradesh 4,93,86,799
So(B(NES
2 Telangana 3,51,93,978
S0P
3 Arunachal Pradesh 13,83,727
BT IS (DTS
4 Tamil Nadu 7,21,47,030
EDET
5 Karnataka 6,10,95,297
éc'sseaé
6 Uttar Pradesh 19,95,81,477
SBBHRS
7 Chhattisgarh 2,55,45,198
SERHE

a) Which state has least population among the given states in the table and rewrite it
in word form. (2)% o“aéééég ©8 SEN erer ToEERY B © TR e wgoros?
oraol.)

...............................................................................................................................

@ § © 0.5.0
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2. My Number World s ——————
D P04 D60

'Sub Topic : Data handling in numbers (S&co¥ Q835ees) ]

b) Write the population of Andhra Pradesh state, both in number and word forms.
WOF(HBE B gl (FPXTBE ErdostEy HBak ©F8 ErHos® Teehod.

...............................................................................................................................

c) Write population of Uttar Pradesh state in number name form.

38 (HBE a2rers ofTros® ToaHos.

...............................................................................................................................

d) Write the names of states whose population is below one crore.

2.8 88 asxrgr So) SE% Ko oolgpe 258 T°eH08.

...............................................................................................................................

e) Write the names of states whose population is above one crore.

2.8 88 asrgr Eom) QKN Ko oS BB P08,

...............................................................................................................................

f) Which state's population is more than ten crore? ...........cccccceeeeeeeeiiiiiiiiieeee e

O TG e DOy STv) NPT &0d?

O O O O <« [ @
o @ @ httaravathi
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2. My Number World e
D P04 D60

'Sub Topic : Expanded form of numbers (Sogmy D38es Sd0) ]

Write the following numbers in expanded forms. (One is done for you)

&3 800 Domgedd YBes Erard) TPahol.

Ex : 45,29,82,375 = (4x10,00,00,000) + (5%1,00,00,000) + (2x10,00,000) +
(9x1,00,000) + (8x10,000) + (2x1,000) + (3%x100) + (7x10) + (5%1).

= 40,00,00,000 + 5,00,00,000 + 20,00,000 + 9,00,000 + 80,000 + 2,000+300+70 + 5

= 4 ten crore + 5 crore + 2 ten lakh + 9 lakh + 8 ten thousand + 2 thousand + 3 hundred
+7 ten + 5 one (4 & %p + 5 8%» + 2 H56 ofeot 9 ofen + 858 JIeo +2 Jew + 3

Sodsen + 7 Hven + 5 euBen)

1) ‘|2’ |5,321 ...............................................................................................

................................................................................................
................................................................................................

................................................................................................

................................................................................................
................................................................................................

................................................................................................
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2. My Number World s ——————

D P04 D60
"Sub Topic : Numeral form - standard form
Logrgirdo — (@PSrdE rdo)

1. Write the following in standard form (8o& =& F&rdE Srdos® Tvahod).

Numeral (Kos) Standard form (short form)
(@PLedE B (K085 o)

Two lakh, forty five thousand, six hundred and
twenty five

(B0t 08, Soz oth S, 8 Sode 883 80D)

Fifty two lakh, thirty one thousand, three hundred
and twenty nine (08 Soth ©F®, S0 2.8), Jong
Soetd Hodse BBI 5"81)&&)

Nine crore, twelve lakh, twenty thousand,

one hundred and four (&6 g%, HJot o,

283 Fo a8 Sowe Teenid)

2. Write the following in standard form (& 808 Soggeid H$0ds ErHos® Tvabhod).

S No Numeral (K0s) Number in short form
(8.%0 $085) B0
1 5 tens (Heven) + 6 ten thousand

(H63en) + 3 hundred (Sotoen) +
2 one (&.8¢x) + 5 lakh (©ge»)

2 3 000+ 7 00 000+ 4 00 00 000+ 10 +
5+30 000

OD @D D D
https://amaravathi
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Poor Fair Average
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2. My Number World s
D P04 D60

'

Sub Topic : Place value - Face value (5;263@:.6 - 5;3898)&»8’))]

1. Write place, place-value and face-value for the underlined digits in the following numbers.
(&8 808 Somges?, 808 A% ARY @08 EwY) 3;260, 5;268)@56, Jspeendedy TrcHod.)

S.No Number (Sogy) Place (Egzéo) Place-value Face-value
(5.%0) (‘3;:6 Qend) (RHre Qend)
Eg 73,58,942 Ten thousand 50,000 5
1 70, 42,635
2 40,73,35,536
3 64,63,98,524
4 68,74,36,731
5 74,52,43,521
6 82,45,63,125

2. Find the difference and sum of the place-value and face-value of the underlined digits
in the following numbers. (& 8o& Sogges® 8ot A ARS @08 GwE) 3;263)@3&6, e Qende
IozeR), B 8o8%hod. )

S.No | Number Place-value | Face-value | difference sum
(&.%0) (Sosyg) (XS de0)  ((Be deo) | (FE0) (@E0g0)
Eg |19,63,54,435 | 9,00,00,000 9 9,00,00,000-9 | 9,00,00,000+9

=8,99,99,991 | =9,00,00,009

1 |21437113

2 [48,94,37,686

3 189,43,62,425

© @ O 9.5
amarava hiteacher.co
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D P04 D60

rSub Topic : Greatest-Smallest numbers (089 'zb%i - 089 7‘1)26&:60&35@)]
Workout the following for correct answer (8c& =*&8 $8X Jdrgrarey Tooholk).
1. Form the greatest and the smallest 5-digit numbers using the digits 1, 3, 4, 2 and 5
without repetition.
1, 3, 4, 2 S003%» 5 ®oged ?’.g)éméae‘éo 5PE0T° SIABIPA0D 8)3%&8) 33(‘,05, DY) 5 eo8e
Doggeodd T°OH0&.

2. Form the greatest and the smallest 6-digit numbers using the digits 6, 5, 9, 7, 2 and 3
without repetition.
6, 5, 9, 7, 2 003%» 3 ®osOMN ?’.g)zémzée)e‘éo 5PE0T° SOXPA0D 813%2,8) "‘oacg, 81)%&8) DY) 6
080 KogROd o008,

3. Form the greatest and the smallest 8-digit numbers using the digits 1, 5, 3, 8, 6, 4, 7
and 2 without repetition.
1, 5, 3, 8, 6, 4, 7 08350 2 @080 ?’.g)zémzée)éo SPEIOT® SIWBIPAOD 813%&8) "‘oacg, 81)%278) AN
8 @080 Joggeo oG08,

o @ .L.0 °
https://amaravathi
Good
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2. My Number World e
D P04 D60

Sub Topic : Greatest-Smallest numbers (89 & - 2§ azsaéoa:ege»)]
4. Form the greatest and the smallest 7-digit numbers using the digits 5, 0, 8, 4, 3, and 7
by repeating any one and use all digits at least once.
5,0, 8, 4, 3 50050 7 @080&° (K& ©08KH EIKo LBIBIT® SIBTALE HO BT &8
©08 a’g)zéo”éaééo 3262 8)3%278) 'zbcg, 8))%278) DY) 7 - @080 Joggod o°OH0&.

5. Form the greatest and the smallest 6-digit even numbers using 5, 0, 2 and 1 allowing

repetition and use each digit at least once.
5, 0, 2 £ 1 woBeik HPITEBo Bk LHOAW (B8 o8 B0 28IV GHETALR

8))%278) ’oacg, 8)3%2783 DY) 6 - @080 Jogged o°C08.
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2. My Number World
B P03 §R008W

"sub Topic : Ascending and Descending Order (s8%e, ©38%rs [§d0) ]

1.

® © @ 4.8
https://a aravathi{
Good

Poor

Put the correct symbol (>, <or=) in the boxes. (grde&® $85 HEHLH GoBos.)

a) 878393790

c) 90020403

82980758
400953400

b) 792849758
d) 58694658

46758490
45100857

Arrange the following numbers in ascending order. (8% (Egoos® Toohod.)

a) 2828335, 3537286, 1995764, 2989632

b) 1643468735, 102947026, 19385702, 148927131, 109125456

Arrange the following numbers in descending order. (9585 (Eos® tochod.)

a) 748932165, 482930456, 69539821, 984326834 , 289354124

b) 800800800, 880088008, 808808808, 888000888, 800000088

Put the correct symbol (>, <or=) in the boxes. (grde&® $85 HEHOH GoBos.)

a) 70000000+20000+3000+100+5  five crore, one lakh, two thousand and three

hundred

b) 40,00,00,000 + 5,00,00,000 + 5,00,000 + 300 + 20

+ 50 thousand

c) 11,11,111 +9,99,999

Fair Average

40 crore + 20 lakh

d

99,99,999 + 1,11,111

(50
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2. My Number World S
D P04 D60

“Sub Topic: Indian and International system (@»o&, @oécagéofa éoasbgzéavzso)]

1) Write the following numbers in the standard form using commas. ((PErBE Srared

T°00&.)
Standard form using Standard form using
S.No | Numeral commas according to | commas according to
S, o. Sosy Indian system International system
2ROt KORRSETO ©oSTBOH VogrgEFS0
Eg 748369237 74,83,69,237 748,369,237
1 50147825
2 500000000
3 572534135
4 820601208
5 984966735

2) Write the number names for the following numbers in International system.
(s0i ‘éoa?agé:vzéo (Bs80 @é@eés o°0%08&.)
a) 450,000 et ettt et bt et e e bttt e bttt e bt e e eh bt e et e e et ae e ehbe e st e e stteeas

b) 2,524,000 ...................................................................................................

C) I;,521,256 ...................................................................................................

) 475,502,125 = e ettt a e e saaae s

© @ © 0.5.0
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2. My Number World s ——————
D P04 D60

Sub Topic : Conversion of numbers (Sogsg zssoq)&)]
1. Fill in the blanks (gr@0 $rB0B0&).
One million in many ways. Q& &seenre a8 DODS

= 1,000,000
= ones (e.8¢))
= tens (Hoen)
1 million
(0OHI) = lakhs (egen)

= hundreds (So&en)

= thousands (Sex)

2. Fill in the blanks with correct numbers (& 808 grdedo 3B éospegezég JrdoLod).

a) 1 million (OcHS) RSO PR OPRRPRRRPRTON lakh (ege»)

b) 10 lakh (oge0) e million (dSHS)
¢) 10 crore (&%) T s million (OHST)
d) 10 million (OADHIED) = eiriiieeeiieeeeee e lakh (©ge»)

e) 10 million (WOHTD) = oo crore (&%)

f) 10 millions (OSHIED) = woveeeeeeeeieeeeieeeeee e, thousands (Jex)
g) 30 millions (OSHIED) = .oivviiieiiiiiice e lakh (ege»)

h) 5 millions (QOHIED) = i lakh (ege»)

O ©
https://amaravathi
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2. My Number World S
D P04 D60

rASSESSMENT]

Tick the correct answer.

1) Which of the following is correct standard form of 42806382 according to Indian

system?

a. 4,28,06,3,82 b. 4,28,06,3,8,2 c. 428,06,38,3 d. 4,28,06,382
2) The number of zeros in one Crore:

a. 5 b. 6 c. 7 d. 3
3) The place value of 8 in 778155419 is:

a. 8000000 b. 800000 c. 8 d. 80000
4) How many tens are there in 2534590 ?

a. 9000 b. 9 c. 900 d. 90

5) The correct symbol used in the blank “54891807 sixty-five million three

hundred seventy-six thousand four hundred three” is:
a. @ b. > c. = d. <
6) Which of the following is same as 9 hundred thousand?
a. 900000 tens b. 9000 tens c. 90000 tens d. 900 tens
7) Seventy-five million five hundred and eighty-three thousand and sixty in number form is:

a. 75,582,060 b. 7,558,306 c. 75,582,960 d. 75,583,060

@ @ O @.%
R /amaravaNeeCher. o Signature of the Teacher
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2. My Number World e
D P04 D60

oS 00% |
B8 dhrgeaed) HHod RE (V) ?oéea)o&.

1) % 808 oBS° gr8dah Sogrs eard)) @B 42806382 Gn¥) 3D (HRrdE &rdo
Q6?

») 4,28,06,3,82 o) 4,28,06,3,8,2 a) 4,28,06,38,3 &) 4,28,06,382
2) a8 58s® Ko LT Eéospé ..................

®) 5 ®) 6 a) 7 &) 3
3) 778155419 &° 8 Bw¥) A Denss

®) 8000000 &) 800000 a) 8 &) 80000
4) 2534590 &° Q) HHen eINoN?

®) 9000 ) 9 a) 900 &) 90

5) 54891807 .ccvvvenennnn... 83 80 DOHIL Kordd Hode Gepd & Jo TeenrHd Sode
Hort. B0 BBGD 198y GoBod.

®) @ ®) > Q) = SRS
6) & 800 ;BS® 9 Soe Dend 3836 6?

®) 900000 Hesven &) 9000 Hedven a) 90000 Heoen  88) 900 Heoen
7) “BE) 05 WOHS® 0 Hose AP L o ©BEF” B, Hogry ErKo

®) 75,582,060 &) 7,558,306 a) 75,582,960 &) 75,583,060

® © © .G
httpsslatharavathits
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Poor Fair Average
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2. My Number World m——————
D P04 D60

' ASSESSMENT |
Fill in the blanks with <, > or = symbols to make them true.
1) 47058213  47058123.
2) Thereare  zeros in one Million.

3) The smallest 8-digit number is and the largest 8-digit number is

4) The greatest 7-digit number by using digits 2, 4, 6, 3 and 7 (all at a time), where the

digits can be repeated is

5) Seven hundred fifty-four million five hundred and eighty-nine thousand and six, written

in number form as

6) The difference in the place values of the two 2s in the number 48242539 is

7) Write the number 594116724 in the expanded form.

Match the following.

1) One lakh ( ) a)7

2) One million ( ) b) 1,00,000

3) The place-value of 4 in 42578125 is. ( ) ¢)10,00,000
4) The face-value of 7 in 78542635 is ( ) d)4,00,00,000
5) One thousand times of thousand makes ( ) e) 10,000,000

d

© @ F @ .LL.@
amarava hiteacher.com &
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2. My Number World s ——————
D P04 D60

ot 00% |

& 808 grdod <, > Sor = HHed IR rhod) Frdotolk.

1) 47058213 47058123.
2) a8 DOHISE omyen &0e°a.
3) o8 ) 8-wosw éogp?g 0B%» 8 o8 @& ?;3665) éozpé

4) 2, 4, 6, 3 HH05» 7 wose&® o“g)éol’zée)@@& O00EIR @) oSO GIRDPAIR® 3)60)65326

@@T‘bc‘g 7- ©08® éosp?g

5) R Hole ey Tenrd DOHI®, 0 Hode NG &6 S0, &% (Baaéé éoaw?g
B0

6) 48242539 éoaoegés BotH ‘2 © G 5526 Dende s BLo Dos?

7) 594116724 G»E) JJBes B0

&3 808 A 28H8S08.

1) a8 of ( ) a)7

2) a8 OHS ( ) b) 1,00,000
3) 425781256° 4 @) SESR ( ) ¢) 10,00,000
4) 785426358° 7 GwE) Sresdensd ( ) d) 4,00,00,000
5) o8 Jomg PG Sang ( ) ¢) 10,000,000

¢ .98 ©
o http Sl aravathitsager.com Signature of the Teacher
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3. Addition and Subtraction T —
£98,5 - 83S

Sub Topic : Addition (§J'°&§)]

1) Add the following (8o& & Erod).

17590 78503 57093 25804
+ 69591 + 18582 + 55879 + 85620
82271 61800 91447 76921

+ 31539 + 50027 + 37466 + 58147

2) Calculate the following (8o& 8%en Babod).
1) 80,470 + 6,052 2) 34,239 + 67,524

3) Solve the folloing word problems (808 o°& 8o BcHod).

Raghu has ~ 2,36,500. Lakshmi has ~ 1508 more money than Raghu. Find the
total amount with Raghu and Lakshmi?

How much money Raghu has?

How much money Lakshmi have more than Raghu?

Now, how much money Lakshmi has?

Which operation do you perform to find the answer?

8o 38 2,386,500 85 S B5n S o8 T 1508 &S aTmon. wond 980 I8
aR) Pk Jo8?

©)  Bw H ) Ky dod?
©)  Bw H5 Bod 5% HG Dod LS Py 06?
3) BN, 8 Eéfg &) 53"25&3& os?
&) B 555 D D (BBAH SHATAOTE?

© @ < 2.6
amarava hiteacher.com &
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3. Addition and Subtraction == ——
£98,5 - 8038

Sub Topic : Addition (§J'°&§)]

1. The population of a town is 98,691. If there are 50,257 adults in the town, how many

children are there?
a8 é%gsa eseer 98,691, evodHst T‘bCoSeD 50,257 eond DY D0LB?

2. There are 78,449 sacks of flour and 55,774 sacks of rice in a store. If the storekeeper
gets a delivery 0f 48,557 sacks of pulses today, what is the total number of sacks in the

store?
2.8 Roedns® 78,449 S0HEY) Hod wpen, 55,774 Higo @R GINOW. s &hex

Boseeamed8 48,557 H3y)) arten HINKy wand, o Fordnst Zwdo Q) aken Jexg

sInow?

i @D
gr.com Signature of the Teacher
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3. Addition and Subtraction T ———
£92,5 - 83S

Sub Topic : Addition (ér&é)]

3. There are 3,72,817 men 3,54,628 women and 2,73,886 children in a city. What is
the total population of the city?
28 $K5808% 3,72,817 £0d HXsven, 3,54,628 Soob @e;a, 2,73,886 &ood deen
G5, ®ond @ K80 IBo eTrER DoB?

4. One lorry carried 1,253 rice bags and another lorry carried 570 more rice bags than
the first lorry. Find the total rice bags carried by the two lorries together.
.8 oed 1,253 Dakgo adron & B SIa RIS o8 IS b Bo& 570 B
kg0 ety 8B 3Y) Ko, wand Bok erlen ED3H o I wred B JKeH?

5. How much is 95,732 greater than 82,365 ? (82,365 80& 95,732 Qo0& JE)57?)

()
m Signature of the Teacher
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3. Addition and Subtraction == ——
£98,5 - 8038

r

Sub Topic : Subtraction (é?oﬁe‘é)]

1) Subtract the following (Bo& &23sen BoHod).

12495 58397 85998 52131 84264
— 5487 — 45265 — 12512 — 45267 — 55867
92145 111111 800212 302101 205161
85067 — 99 — 125 — 705 — 875
140503 142563 512642 824952 502602
— 9060 — 9265 — 128347 — 404875 — 148307

2) Do the following (8o 850 BcH0&).

a) 52,275 —25,254 d) 6,25,628 — 1,259

b) 78,365 — 19,988 e) 52,45,128 —5,85,429

& © @ 4.8
https://amaravathi
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3. Addition and Subtraction T —
£98,5 - 8p3S

e

Sub Topic : Applications on subtraction (8238 - e—s:éoégme»)]

1. Venkat earns ~ 20,150 in a month. His total monthly expenditure is ~ 11,975.

How much does he save in that month?

What information is given in the problem?

What is to be found in the problem?

Which process do you follow to solve the problem?

F088 T T 20,150 JorORE. 08 Fokd &) T 11,975 wond o8k I Jod
o) BEH?

K56 B SETTBo DB?
K58 DD EHEHTO?
K50 PHOSTIE O (BN BHEFAOTO?

2. Venkat earns ~ 20,150 in a month. His total monthly expenditure is ~ 11,975.

How much does he saves in that month?

How much amount Venkat earns in a month?

How much is his expenditure in that month?

What will you do to calculate his savings in that month?

3088 R0 T 20,150 SorORE. 08 Jokd &) T 11,975 wond o8k I o
o) BEH?

J08E5 Jod o8 JoTPoFL?
0B o35 Jod edy) BarwH?

w3 D) Bomreod A FED?

o § o & 8
amarava hiteacher.com &
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3. Addition and Subtraction S ——————

£928,5 - 8038

e

Sub Topic : Applications on subtraction (238 - @:éaégme»)]

3. Venkat earns ~ 20,150 in a month. His total monthly expenditure is ~ 11,975.

How much does he save in that month?

Earning of Venkat in that month= "~
Expenditure of Venkat in that month= "

Savings of Venkat in that month= "

F088 o T 20,150 SorORE. 08 Fokd &) T 11,975 wond o8k I Jod

oy BF?

J0Ee Jo Koard

2088 Jod T P

F0EE5 I T LD

4. Venkat earns ~ 20,150 in a month. His total monthly expenditure is ~ 11,975.

How much does he save in that month?

F088 T T 20,150 SorORE. 08 J0kd &) T 11,975 wond o8k I Jod

sy BFH?

¢ .98 ®
o http Sl aravathitsager.com Signature of the Teacher
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3. Addition and Subtraction G E———————
£92,5 - 8p3S

Sub Topic : Applications on subtraction (238 - e—s:éaégme»)]
1. Inan examination 75,974 students passed. If the no. of failed students is 35,273, find
the total no. of students who appeared for the examination.
o8 HOES® 75,974 $00 &EBHBTE. edhen AT 35,273 Ko @, Indo HOEH
382383 e Do ood?

2. The sum of two numbers 1s 70,350. If one of them is 28,682, find the other.
30 éospé@ Swgo 70,350. oSt a8 éospé 28,682 o0l Bo&kd éosp?g Q0es?

3. Shankar cultivated one acre of field. His expenditure is =~ 22,000. Sambaiah cultivated
one acre of field in organic way, his expenditure is =~ 10,500. What is the difference
between two expenditures ?

4080 QB0 el OB, i & 0S8 ewand &) ~ 22,000. Joardly SHEZ
QEBo el DolBo% éc‘gé’éé’s FoiH DOHP, 8SHHE wand &) ~ 10,500. & e &g

255@5260 D0&?
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3. Addition and Subtraction EEEET T ———————
£928,5 - £038

r

Sub Topic : Applications on subtraction (23 - e—s:éaégme»)]

4. A former spent = 4,500 on a gobar gas plant. He got ~ 2,900 in the form of loan from
bank. How much did he spend from his pocket?
a8 B ﬁseogmé% Pots W&o ~ 4,500 &) DX, 988 erg08H Sod " 2,900 S
PG50 EPoHN, @8 328 o PBY) Do&?

5. There are 63,675 bags of rice and wheat together in the grain stock. The wheat bags
are counted as 34,768. Find the no.of rice bags.
2.8 Roedns® Qo B Fehsnen €08 63,675 2xapen ET2)0. 6% 2aren 880l
34,768 Garow. @and Fmrsnd® o) Hohgo adeen d)?

e v & o8 ®
httpsillarharavathitsaghe
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gy 3. Addition and Subtraction R ISRy
goas-S038 20 WS-

Sub Topic : Properties of addition (&r&% gomen)

1. Find the sum of 34,685 and 26,366 and also find the sum of 26,366 and 34,685. What
do you conclude (by comparing)?

34,685; 26,366 © FomR) EDFKOE. 26,366; 34,685 © Fomed) EHFK0E. b HM
K5 oTeHn?

2. Find the sum of 34,685, 26,366 and 26,366, 34,685.What do you observe?
38,685, 26,366 h@&)&ééﬁaﬁéo&. 26,366 + 34,685 Dend Dos? St DY Ko ?
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3. Addition and Subtraction EEEET T ———————
£928,5 - 8038

r

Sub Topic : Properties of addition (&&% gomen)

3. Find the sums of 47,632; 0 and 0; 47,632. What do you conclude?
47,632;0 © JmzeR) 500k 0; 47,6320 Inzed) EAK0. od W KJowedd?

4. a) 783604 + 38465 - 4783604
b) 52014 + = + 72541
) 673804 +0 - 4673804
d) 21543 + = 21543
e) 20768 + 15116 ~ +15116

OD @D D D
https://amaravathi
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Poor Fair Average
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3. Addition and Subtraction T ———
£92,5 - 83S

Sub Topic : Addition and Subtraction &r&% - §23&) ]

1. Solve these (8o&® BE)e0 Z0%0&).

a) 43768+4325-5238. b) 684580-32456+23458.
c) 563864-48364+38486. d) 847124 — 214583 + 5874213
e) 425657 + 25107 — 392782 f) 999999 — 285147 — 714852

@ @ O 9.5
amarava hiteacher.co
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Poor Fair Average
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3. Addition and Subtraction EEEET T ———————
£98,5 - §p3S

Sub Topic : Addition and Subtraction &r&% - §23&) ]

2. What should be added to the sum of 5,46,569 and 1,34,266 to get 7,11,811?
5,46,569 00050 1,34,266 © J0ozed8 Jod EODS 7,11,811 @“oéé:ﬁ%?

3. A person had ~ 1,97,865. He gave = 50,753 to his wife and ~ 75,928 to his son.
The rest of the money is given to his daughter. How much did the daughter get?
a8 Eééé (5?(56 " 1,97,865 en aanom. 0980 &3 grds® T 50,753 en B8 T 75,928
ool B, HADIH B3 HITPTH BIvH. Wowd HIPTH BYKE Jod?

4. A person had ~ 1,97,865. He gave ~ 50,753 to his wife and =~ 75,928 to his son.
The rest of the money is given to his daughter. How much did the daughter get?
a8 Eééé (5?(56 7 1,97,865 en aanom. @80 &3 grdg® T 50,753 e B8 T 75,928
oo B, HADIH B3 HITPTH BIvH. Wowd HIPTH BYKO Jod?

o ¢ ¢.2.8 @
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3. Addition and Subtraction T —
£98,5 - 803S

'Sub Topic : Addition and Subtraction (Zr&% - &238) ]
1) Do the following (8o® 850 BcHo&).

10000 20000 50000 80000
- 5471 - 15265 - 49267 - 62145

2) Solve the following problems (8o& 8%eo Tod).
a) What should be added to 346568 and 234263 to get a sum of 8000007
3,46,568 00a%n 2,34,263 0B dod EODS 8,00,000 $5008?

b) Find the difference between the smallest 6-digit number and the greatest 4-digit
number. (6 ®o8e DY) Dogy®, 4 wose 'zbfg 0858 06k 5o Nos?)

c¢) How much is to be added to 5,42,152 to get ten lakhs?
D6 oFen Srodwed8 5,42,152 & dod oard?

© @ & @ @
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3. Addition and Subtraction == ——
£98,5 - 8038

Sub Topic : Estimation (woXze)

1. Estimate the following totals/differences to the nearest thousands.

58397  — 58000 45215 —
+45965 — 46000 + 95514 —
968524 — 250901 —
+ 587256 — — 149925 —

2. Harsh had ~ 1235 in his pocket. His mother gave him ~ 1825 to him. How much

amount is with Ravi now ? (in Rs.) ( )
5D S T 1235 axmnom. 7E) ey $38 T 1825 aQ)ob. oD [ 8 3G &) 53"2533&
DoB? (. o)

a) 1000 b) 2000 c) 3000 d) 4000

3. Thataiah received ~ 2250 in his old age pension scheme. He spent =~ 1250 for house
expenditure. How much amount did he save? ( )
Eéacsga’s?s 2035 808 ze8akg 2250 é;(néaagc‘fo. o8 ~ 12505 508 pine oo i)
BFH. NS SH TS DY Dos? (Gwr.os’)

a) 2000 b) 3000 ¢) 1000 d) 500

4. Baba scored 3578 points in the video game and Sunny scored 2456 points. Estimate
how many more points gained Baba than Sunny? ( )
2.8 DEDe NHS® arer 3578 Srowotld) Soarobomrid. $Q) 2456 aPonotd) BoarBowR.
3Q) B0l arar AR END FPowoky HoFPBOTED?

a) 500 b) 6000 ¢) 1000 d) 1500

httpsillatharavathitsaehe
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3. Addition and Subtraction ST ————
£98,5 - 8p3S

Sub Topic : Profit & Loss (ergio - N50) ]

1) Find profit or loss (e*g&»? $83?).

S.No | Cost price Selling price Profit or Gain Loss
1 ~ 1800 2400
2 ~ 5000 ~ 6000 ~ 1000
3 "~ 6200 ~ 6000
4 ~ 9100 - 8000

2) Fill the blanks in the given table with suitable amounts (&c& é@éés Dol FrBoBod?).

S.No | Cost price Selling price Profit or Gain Loss
1 ~ 1000 No gain © 200
2 ~ 2500 3600
3 ~ 10000 No profit © 500
4 © 12500 ~ 850 No loss
5 T 15483 No profit T 2425

© @ O 9.5
amarava hiteacher.co
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3. Addition and Subtraction == ——
£98,5 - 8038

Sub Topic : Profit & Loss (ergo - zééo) ]

1) Raman bought a smart phone at ~ 8575 and sold it for = 7500. What did he get either
loss or gain ? How much ?

PR 2.8 S8ed O T 8575 & ST, e T 7500 B @8)3&26, 088 ergfir S 2653&6??
Q0 ?

2) A shop-keeper purchased a dinner table set at ~ 1,52,875 and sold out to a customer for
" 1,87,125. Calculate the profit.

28 SRR af Fad oy 6D T 1, 52, 875 & &, oA " 1,87,125 & ekmb.
©ond ©93J8 Jod oo Sok?

) 5L

https:/Za aravathitsaght
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3. Addition and Subtraction I ——
£98,5 - 8p3S

Sub Topic : Profit & Loss (ergo - zééo) ]

3) Vijay purchased an old house at ~ 25,48,000 and spent ~ 5,45,894 on repairs. Later he
sold it to Balu for ~ 37,50,500. How much profit did he earn on the whole transaction?
D a8 PE 2089 ~ 25,48,000 D £ e | 5,45,894 & Ho8den Dowomedo.
E&ared eV epend  37,50,500 B o5y, ond Da:dHd %) orgio Jod?

4) Venu invested ~ 72,524 to cultivate paddy in his land. On selling of his yielded crop in
market, he lost = 24,867. For how much did he sell his crop?
Sea0 BEHPAEIE T 72,524 Denad e, SrtpiS® Hob ol Sard, oS08
T 24,867 26&30 J)ob. OB B HoLD Josd @aéav&c‘éa?
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£98,5 - 8038

Sub Topic : Profit & Loss (ergo - zééo) ]

5) Aryanis owner of a hotel and at the end of a particular day he received ~ 58,524. Then,
he calculated that he earned ~ 7,524 profit. How much money did he invest on that
day?

OB 2.8 S dhesded. oerdst &) Seapyen B&)odre T 58,524 T200. L DHTeD
Bééoém T 7,624 0808 ergio S)0b. 9OoNSB 9B ) 33%3326 J0E0 Do ?

6) Nalini earns ~ 32,550 in a month. Her total monthly expenditure is 15,750. How much
does she save in that month?

$8Q Joaed JordS 32,550, IodH 6 Ivgo &)~ 15,750. OONE B8 I Do
D) BHob?

[ 83
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ASSESSI\/IENT]

1. Fill in the blanks :

a) The smallest 5- digit number that can be formed using the digits 0, 1 and 2 is

b) 100 less than 10202 is

c) The even number just greater than 12000 is

d) The short form of 10000+100+2 is

e) The smallest 6 digit even number is

2. Fill in the blanks :

a) What is the sum of the place values of 8 in 8285 ?

b) 50 thousands + 60 hundreds + 50 tens =

c) In the number 2586, the difference of the place value and face value of 8

1S =

d) Add an even 4-digit number and an odd 4- digit number. Is the sum odd or even?

e) IfCP is 7865 and loss is 459 then SP is

°© @ & @. .8
amarava R Cher.com
Good

Poor Fair Average Excellent
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?oogoﬁaaéo&o@]

1. 808 grdeods JrooPod.

©) 0,1, 2 o8 S)éo)é 8 DY) 5 wose dogy

@) 10202 808 100 SE33 Soayg

@) 12000 SHard $3) 90 Hosyg

&) 10,000 + 100 + 2 GwE) S0 o

&) 6 ®os® 532601 358 éosp?g

2. rdods FroodHdw.

1) 8285 & 8 S Devde Fgo

2) 50 Jen + 60 Soen + 50 Hen =

3) 25868 8 SwE), 3(;26 Dend, ¥ Jende o

4) 4 ©08® ‘é@éosp?g $08035» 4 ®o8e BV éosp?gozéa Eendre fbéo)é éoao?g pSte) éoap"?g? S8 82

dogrg?

5) ?5&50 T 7865e0 B3 26@0 S 459 eond @833&26 I =

¢ @ .g.8 ®
o http Sl aravathitsager.com Signature of the Teacher
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£98,5 - 83
ASSESSI\/IENT]
3. Choose the correct answers:
a) The value of 5016-2894+3997 is ( )
a) 6000 b) 6120 c) 6191 d) 6119

b) A number when subtracted from 9000, leaves a difference of 2639. What is that

number ( )
a) 6471 b) 6361 c) 5361 d) 4639

c) Which of the following statements is incorrect ? ( )
a) 3138-200=2938 b) 4011+30-100 is greater than 3900

c) 1999+10+1is smaller than 2000 d) 3895+10+100 is greater than 4000

d) Sameera bought a jacket for = 752 and a pair of shoes for ~ 824. Estimate the cost

she paid the shopkeeper . ( )
a) ~ 1500 b) "~ 1600 c) ~ 1700 d) " 1400

e) IfSPis = 5790/- and profit is = 398/- then CP is ( )
a) ~ 5392 b) ~ 6188 c) ~ 5790 d) "398

© @ & @ o @
amarava hiteacher.com S
Good

Poor Fair Average Excellent
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ey 3. Addition and Subtraction S ——r——
£98,5 - 83

%56532;6;&0@]

3. BOFS earanidy “rdodh o) (@08t oeahod.

1) 5016 — 2894 + 3997 = ( )

®) 6000 &) 6120 a) 6191 &) 6119

2) 9000 ool a.8 Doggo &2T o, Bdn 2639 &od. wond

& Doz ( )
) 6471 ) 6361 s) 5361 &) 4639

3) 808 &S HB VBP0 ( )
®) 3138-200 = 2938 &) 40114+30-100 38 3900 Sods SEVRY

1) 1999+10+1e36 2000808 S5 8) 3895+10+100 38 4000 So& I

4) D808 88 T 752 o HOAM @y “824 o B, wand S HSerErthds

ROV Bweed) WosTe SAhod. ( )
&) ~1500 &) ~1600 g) 1700 &) 1400

5) @S o = “5790, ergo= "398, wowd SHIo= ( )
®) ~5392 &) "6188 s) 5790 &3) “398

i D
r.com Signature of the Teacher
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rSub Topic : Multiplication (ese50) ]

1. Fill in the blanks. (& 808 gded $r8oSo8.)

a) The number to be multiplied is called as

HBosead éosp?gzéa 0PI )
b) The number with which we multiply is called as
(a8 Eéoap?gséa $R0T éogp?gzéa 0PI )
c) The result obtained in multiplication is called as
(Koease80 DosHre 2633 éospegséa ®OLPAN. )
d) Repeated 1s known as multiplication.
(DSoeS Lo rease8o @0erPsm. )

2. Do the following : (& 808 hesseoreds B0%0&.)

a) 861 x 36 b) 7256 x 4 c) 7860 x 25

d) 6307 x 58 e) 8645 x 76 f) 4899 x 88

O O O O O
© @
httes7//amaravathiteacher.com Sigpatint of W Teachen
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4. MULTIPLICATION
AND DIVISION

Sub Topic: Multiplication]

1. Mr. Raju purchased material in bulk to complete his building construction. Help

him to calculate the total amount.

S. No. Item Unit Unit cost in Rs. No. of units
1 Sand 1 Truck 1000 40
2 Cement brick 1 16 22500
3 Iron 1 kg 50 4000
4 Cement 1 Bag 356 700
5 Gravel 1 Truck 3000 7

The cost of 40 trucks, sand = Rs.

The cost of 22500 cement bricks = Ras.

The cost of 4000 kgs iron = Ras.

The cost of 700 cement bags = Rs.

The cost of 7 trucks gravel = Rs.

Total Amount = Rs.

2. Do the following :
a) 21702 x 9 b) 13021 x 32 c) 17343 x 99
o @ . htpmaravatrger com Sigmatint of We Teachen @
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©®0I0 Iﬁeasvéo]

orer &S P53 AoYeao T s050S Indo FERBQ B0 B . &3 80b éégé EImtelolal
w8 BPoUHORNE Iogo P BouKos® $tcho Bakgod.

S, Do TSI @S0 | o8 (Bireso EwE) 8 ) | (B Sogy
1 a8 1 (&8 1000 40
2 DDoEN BEnTeD 1 z¢ns 16 22500
3 a0 188 50 4000
4 2ot 1 a:» 356 700
5 Eo88 ooy 1 (@08 3000 7

40 (500 =08 &8 = X

22500 dotn BB HB = 7

4000 885 (rrsme adsn §8 = 3

700 dDotn e Y = X

7 (@590 Bo88 7oLy §8 = X

Sw&o sy = v
808 HreTrorel Webod.
) 21702 x 9 &) 13021 x 32 a) 17343 x 99

!ig m Q m a
https: ’! ! acher. :
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Sub Topic : MuItipIication]

1. Shahid is a tailor. He charges I 650 for stitching a pair. During festival season he
stitched 69 pairs. Find the total amount he earned.
What is the sum about?

What information is given?
What to find out?
Which mathematical operation is to be use to solve the problem?

2. Shahid is a tailor. He charges I 650 for stitching a pair. During festival season he
stitched 69 pairs. Find the total amount he earned.
How much he charges for stitching a pair?

How many pairs are stitched by Shahid during festive season?
Which operation do you perform to solve the above problem?

3. Shahid is a tailor. He charges I 650 for stitching a pair. During festival season he
stitched 69 pairs. Find the total amount he earned.
Stitching charge for 1 pair =
No. of pairs stitched =
Stitching charge for 69 pairs =
4. Shahid is a tailor. He charges I 650 for stitching a pair. During festival season he
stitched 69 pairs. Find the total amount he earned.

O O O &
o @ @ htmaravatvlf : Signature of the Teacker
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®0d0 21;8351’60]

1. aeee8 a8 éé. & a8 wd aden HHIE T 650 &0 0. 28 HokK 60856?32533@38
©&K 69 2B QO éoégé, &% HoFHOD @“56:0& 0&?
®) &3 é:ﬁaé;és SN JSeTeEo E?

©) A 85855007
B) D KBS (BEHD SHRFAOD & B FHIEN?

2. w8 a8 éé. OB a8 wd aden HHIE T 650 &0 0. 28 HokiK éocsé?):éms’s
©&K 69 w2l QO éoégé, &% HoFHOD @“56:0& 0&?
®) &L a8 @& ée0 é)éea)mﬁbé Do Erd &oBoersH?

@) HoXoN éotﬁéao@s o0& A 2 @éen é)é;cgéa?
8) P D5 FBOBTEI8 D (HBH &R rPACTD?

4. P& a8 éé. & a8 wd aden HHIE T 650 Ao, a8 Hohis éocﬁé?):éms’s
©&K 69 2l 2O éoégé, %% HoFHOD @“56:0& 0&?
®) a8 28 afen HYTIE & =3
) éa@:é 1) éosp?g =
3) 69 wBen é)é%geaé) oand E&rd =%

5. ardr& a8 CSQ. 0& a8 ad aden HHTIS T 650 Ao, a8 Hodkdis éoéégbzﬁné’s
©&K 69 w2l 2O éoééé, %% HoFHOD @“56:0& 0&?

o & & @.9.6
https- Wetcher.com @ :
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rSub Topic : Multiplication (beese80) ]

1. The cost of one chair is T 980. What is the cost of 25 chairs. (e.8 %8y §8 T 980, wond
25 éoéao B8 No&s?)
Ans.

2. The cost of 12 dozen apples is X 3012. Find the cost of 1 dozen apples. (12 &es SRS
Do §8 % 3012, oond 1 &esdy SrdS Do $8 dos?)
Ans.

o @ . ht@maravatf&er com Sigmatint of We Teachen
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3. Krishna has 18 boxes of oranges. Each box holds 312 oranges. Find the total number
of oranges. ()% $& 18 1o’ «Bof Hory aTow. as%E) 1FS® 312 €BoF Hoi S0,
0&J I I0Fo Y e80E Hor EoH?)
Ans.

4. Raghu's monthly income is ¥ 36,500/-. How much amount he will earn in a year?
(850 I8 emeaho T 36,500 wand @i a8 éo&éé&éoé‘s No& JoFOHREK?)
Ans.

o @ © @ 0 6
https” Yiteacher. {
lamarava hitedicher.com Sigpatint of W Teachen
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Sub Topic : Multiplication (sz80) ]

1. Mrs. Jaya purchased 8 door curtains and 9 window curtains. How much amount did
she pay to buy them? (1 Door curtain = 450, 1 Window curtain =X 250)
(@205 8 Sensd B, 9 888 Bsod £HB. e ol S BEH T 450 o, af 884
885 T 250 o (Hsedo o8 ud BY0BHOVS oo ﬁ“:ﬁw& 0o&?)
Ans.

2. One day Santhamma sold 456 packets of groundnuts in a train. If each packet costs
< 10, then find the total amount she earned on that day.
(o8 Bbe 0By 456 R5EY SEESK Do 00, &l R5BESD T 10 o @8)3&3, 93
D0arH0NS Indo Py doB?)
Ans.

3. A.P government planned to plant trees along roadside. The distance to be covered is
112 km. If 120 trees can plant in 1km, find the number of plants required for 112
kilometres. (€oFHAE ($H5HSEn Srmros s By Tered DPanoHE 0. &l
8&50e5% 120 B (580, 112 88°06Y 85mos® Tremed8 sPHodd Béy Hogg DoB?)

Ans.

o v ... ©
https:#a thiteac . :
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Sub Topic : Multiplication facts]

1.

96

Fill in the blanks.

a) 4x25=100 then 100~ =25
b) 75x4=300 then = 4=75
c) 125x = then 750 6 =

d 321x = =642 then 642 +2 =

Fill in the blanks with appropriate symbol <, >, or =

8) 755 e, 750 + 50
b) 7X5 e, 135+5
©) 145X8 oo, 185 x 7
d) 7254%X9 e, 9312 x 7

Fill in the blanks using multiplication properties.

a) 45x189 =189 x

b) 1321 x = 214 x
0) x 468 = X 657
d) 5861 x = x 56

® O O I
amarava ) cher.co
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.

©0I0 : zPB0 ]

1. & 808 grded HrooSad.
®) 4x25=100ond 100 + =25
) 75x4 =300 ®ond +~4=175

g) 125x = ond 750 ~ 6 =

&) 321 x = 642 wond 642 +2 =

2. % 80 grdod <, >, S = o&® B8 IS FrBoKad.

®) T5FS5 . 75050
&) TX5 i 135+5

&) 145%8 185x7
&s) T254%9 i 9312x7

3. & 808 grdeod Mol AcHEredibood Froosad.

) 45x 189 =189 x

&) 1321 x = 21 4x
=) X 468 = x 657
&) 5861 x = X 56

o @ . ht@maravatf&er com Sigmatint of We Teachen
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Sub Topic : Division ]

1. Fill in the blanks to make the sentences true.

a) 932+ 31 gives quotient  and remainder

b) 936 + gives quotient 104 and remainder 0.
c) 1022 + 14 gives quotient  and remainder 0.

d) + 23 gives quotient 15 and remainder 5.

2. Divide mentally and fill the blanks:

a) The number of weeks for 91 days is

b) 496 sweets are distributed among 8§ children. Each child gets sweets.

c) 40 ice creams cost I 320. One ice cream will cost I

d) A packet of incense sticks contains 60 sticks. packets will contain 3600

sticks.
Do the following.

a) 5248+ 24 b) 8755+ 25

© @ © @
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oo : gRHSEE Qasden ]

1. 808 grded $rooPod.

®) 932 + 3] Lo 253{) PPiiDO0 H08050 BHo

@) 936~ Bk grriHeo 104 Lbasn dho ‘0.
8) 1022 + 14 5008 grifdoo  0Bas» 3500
&3) + 28 %008 griHoo 15 H8c» 3o 5.

2. %5oS%Ked woe gRistso 32, &% 808 rdod HrooBed.

®) 91 s’ roro Sogy

®) 496 DTrone 8 Hod byedd Holr, 289808 TONED HROW.

5) 40 08 ESwe $8 T 320. wand &8 DD $8 .

&) a8 RESS* 60 wrdhnden dotran. wond F866° 3600 writhaden

oI om.
3. 808 S D&,

®) 5248+ 24 &) 8755+ 25

"I!I';:I <:::::{] “I!I'f]
h
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AND DIVISION S ST

Sub Topic : Word problems division]

1)

2)

3)

4)

Ans.

A cement factory produces 43500 bags of cement in a month (30days). How many
cement bags does it produce in one day?

What data is given?
What is to be found?

What is the mathematical operation to be used to solve the problem? ——

A cement factory produces 43500 bags of cement in a month (30days). How many
cement bags does it produce in one day?

How many bags of cement did the factory produce in a month?

How many days are there in a month?

How many bags of cement can be produced in a day?

A cement factory produces 43500 bags of cement in a month (30days). How many
cement bags does it produce in one day?

Number of cement bags produced by the factory in a month =

Number of days in a month =

Number of cement bags produced by the factory in a day =

A cement factory produces 43500 bags of cement in a month (30days). How

many cement bags does it produce in one day?

® @ © .. 6
httes-//amarava 0gcher.congxc"nt Sigpatine of We Teacher
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1.

&S,

& © ©
h

Poor

8 1otn S0 a8 J08° (308%ren) 43500 el 6E)8 WKyob. wowd @ VLoD
580 a8 Berd® AR Bvotw R S Tod?
®) & BEHS® s SrTEo DWH?

©) 20%S* D BEHTD?
B) & By FBODHLDH D KBS (HEWDD SHEFHOTD?

8 2otn rE0 a8 J08° (308%ren) 43500 kel &E)8 WKyob. wowd @ dIHOL
580 a8 Berd® Q) Bvotw R GHE Tod?
a8 J08° & oot FEO I dvotw R EHE TKob?

2.8 J0&° Jprdeorr IR Berenotron?
a8 Ber® & Pl AR dvotw P $HE Tod?

8 1Fotn E0 a8 J08° (308°%ren) 43500 kel 6E)8 BKyob. wowd @ BIHOLD
580 a8 Berd® AR B0t R S Tod?

© 580 o8 J0&° 6B T 1o are Jowg =

2.8 BS® Jpedceonr Sheren Doy =

© 580 o8 T a8 T dvotw e Koy =

8 1Fotn S0 a8 J08° (308°%ren) 43500 el &#)8 BKyob. wowd @ dIHOL
580 a8 Berd® Q) Bvotw R S Tod?

tt!. maravatl ea er.com S;W/tm/z wler
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'Sub Topic : Word problems division (zr#s#80 $&88500se0) ]

1. If'the cost of 100 Kg rice bag is I 4800, what is the cost of 25kg rice bag.
(100 &8 é)dSa?So 88 T 4800, wonsd 25 8%« e‘i)o‘i)?go 580 ézéags&o&.)
Ans.

2. Ifthe cost of 3 dozen eggs is I 156, what is the cost of 7 dozen eggs? (1Dozen=12)
(8 Besd BP&HE $8 T 156 0owd, 7 e 858 g 8 dod?)
Ans.

@ @ © @ 0 6
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3. If the cost of 45 mts electric wire is I 3540, how much amount does require to buy
24 m of such wire ? (45 68 EBoen 8K 8 T 3250 ewond, 24 Hed EBotn Sio 8
NoE?)

Ans.

4. Product of two numbers is 27176. If one of them is 43, find the other number.
(BoH Dogge OO 27176. 8S® 2.8 Qogyg 43 ©ond [o8°E ESICE VPNV ééﬁs&o&.)
Ans.
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1. First estimate the answer and then calculate.

a)

b)

c)

37 x16

Estimated answer = Calculated answer =

Number of days for 52 weeks?

Estimated answer = Calculated answer =
709 x 99
Estimated answer = Calculated answer =

2. Divide mentally and fill the blanks. Check your answer with calculation.

a)

b)

d)

D

130 note books are distributed equally among 10 children. Each child will get

note books.

40 charts cost is T 320. Then, the cost of 1 chart is ¥

A tray of eggs contains 30 eggs. trays will contain 360 eggs.

If 5625 plants are planted equally in 25 rows, find the number of plants in each

row.

0 O 0 0 g
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sodo: FFiiHso |
1. & 808 Jhdge JIrEraed) DOBTRD, SHhaed KBoKod.

) 37 %16
OST® IV Sdrordo= KBoDS Sdrprdo=
®) 52 rores® Ko wdo e Jogg dod?
OST® IV Sdrordo= KBoDS Sdrpedo=
g) 709 x99
OST® IV ddrordo= KBoDS Sdrprdo=
2. & 808 o $rood Virgrarels, HIF ol o Fehod. © SHhard KBod
J0ErLoA.

) 130 SPew DIz 10 Hod Sm?gégepéa JdeHomr Howrdd, 9aNd &%"éé@ éi)cs‘ggé
Sexn Hideeen SFow.

©) 40 §o $8 T 320. oand 2.8 TG $8 &,

8) a8 58y ©hd) B S0 30 HEH wd)ioo, @ond 360 HESD @dmeds
SH0S (He Doz

&) 5625 Bwézpzéa 25 $83088 ddmdorre rerd. ©wons &?&é& S&%SE A Bwé&en
JeeB?

tt! 4 th = . :
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Sub Topic : Division (5°i5%50) ]

Do the following sums and verify your answer with multiplication.
(S Bod oD W, B besedo wTe $OETEed.)

1. 678 +6 2. 950+10 3. 786 =13
4. 7438 +9 5. 3489 + 12 6. 4896 28
7. 25048 ~7 8. 67809 + 47 9. 92863 + 58
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4. MULTIPLICATION
AND DIVISION

ASSESSMENT|

1. Fill in the blanks:

a) The number to be multiplied is called

b) The number with which we multiply is called

c) The result obtained in multiplication is called
2. Do the following:
a) 809x35

b) 7608x9 c) 80451x87

3. Daily wage of a worker in a factory is I 450. Find the total wage of the worker in the
month of January.

Ans.

4. a) Multiplier x

= product.

b) Multiplier =

+ Multiplicand

5. Devidend =

X Quotient +

6. Do the following:
a) 432+18

& © ©

Poor Fair Average

b) 2226442
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4. D66
DO 1965566
r?oogo‘So éa&o@]
1. ded HrooSod.
®) HBoSHE Hoagd © DD,
©) B Boggd DB Doggd @ DO,
5) HBoIT H) HOTY 0TS,
2. & 80d hesored Bhod.
&) 809x%35 &) 7608%9 s) 80451x87
3. o¥ Souymrsos® BUD $588 Slerard H¥ko T 450 wond wdlh adsd J® dod
SRS [oPORE?
e3.
4. ©) Dego X = ©80
) theeso = + Ieago
5. Qeresgo = X griPeo +
6. 808 A TFchods.
) 432+18 &) 2226+42

® © .66
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ey’ 4. MULTIPLICATION S o
AND DIVISION e i ...

8. There are 180 pencils in 18 boxes. How many pencils are there in 20 such boxes?

Ans.

9. There are 552 students in 23 sections of a school. If the number of students in each

section is same, how many students are there in 34 sections?

Ans.

10. If the cost of 5 kg rice is X 250, find the cost of 18 kg rice.
Ans.

11. Prepare a word problem to the given division: 365 +7.

Ans.

12. a) 13x25= (estimated) = (actual)

b) 16x33 = (estimated) = (actual)

® O © &)
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4. 52266
DO 1965566

18 288 180 2Ky &), 20 1FoS® Q) YY) Gotrow?

2.8 Bt 23 Jerrrost 552 Dogen Ko, (8 Derrios®o Biwd Soggs® Degen
ok, ®ond 34 derros® dod Hod 3)65"?36(8@ Bodn?

5 §€38[T°E§JDQJ &o‘ﬁ)?go 88 T 250, ewond 18 ééswzéwo §)o§a§o H8 oes?

365 + 7, & griitod8 SAK Q&N Dowol His S SSTBRH0.

&) 13x25= (wodsze) = ez Jrgr50)

) 16x33 = (wodsze) = (Des 35rgr50)

® © @.0.0
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5. FACTORS
AND MULTIPLES

[sub Topic : Divisibility Rules for 2, 5,10 (2, 5, 10 wadcte srge) |

1) Circle the even numbers. (388oggo% “R)” $H&0o&.)

236 388 455 237 488 380 224 5859 6842 8648 3633 8887

2) Puta/ or X against the number in the column. (Soggs J&dne v Sae X &oPod.)

Number Digit in ones place Divisible by 2
(S083) (8% 352606’5:0 ©03) (23 grhoStEHod.)

236 6 v

587

2358

2200

8495

9534

4449

3842

O @ . htt.maravathger com Sigmatint of We Teachen
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5. FACTORS
AND MULTIPLES

3) Put a / if the number is divisible or mark X if not, against the number in the

column. (£33 &8 v Soe X ¢osod.)

Number Digit in ones place Divisible by 5 Divisible by 10
(S08) (8% 352606820 ©o38) (5 B PhoSnLEod) (10 F grhoSeathdod)

6806 6 x x

4832

5800

7805

3834

5890

6685

e Qo v 9.9.0
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5. FACTORS
AND MULTIPLES

Sub Topic : Divisibility Rules (grsdcboae Grgres) ]

1. Check whether each number is divisible by 3. If divisible write Yes/ if not put No,
against the number in the column. (808 Hogges 3 & rAcSaleTr B6° oS Ed.
SPAODDEE ©Hd SEDE % ©Q TPehHod.)

Number Digital root Divisible by 3 Yes/No

(Sogy) (208 Soreo) (8 3 PrAoSHH0d)

5736

4758

6405

8141

2) Check whether each number is divisible by 9. If divisible write Yes/ if not No,
against the number in the column. (808 Hogges 9 T FrAcSareTr B&° BoSrEl.
SPAODDEE ©Hd SEDE % ©Q TPehHod.)

Numbers Digital root Divisible by 9 (yes/no)

(Sogy) (208 Sore0o) (9 3 rAoSH0d)

2720

9718

8076

6867

O @ . htt.maravathger com Sigmatint of We Teachen
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5. FACTORS
AND MULTIPLES

3) Check whether each number is divisible by 3 or 9. If divisible write Yes/ if not No,
against the number in the column. (808 Sogges 3, 9 T FrAoSaledr 86° BoSrLod.
PAODDEE ©Hd SEDE % © TrchHod.)

Number Digital Root Divisible by 3 Divisible by 9
(ﬁozpag) (208re0) (8 3 grAoSatHHod) | (9 T srhoSeathdod)

339

381

273

540

819

® @ O @.2.0
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5. FACTORS
AND MULTIPLES

~

Sub Topic : Divisibility Rules (sr=ddbas dmzres) ]

1. Check whether the following numbers are divisible by 4. (4 R gt Qogges
Doy iﬁ;%o&. )

a) 106 b) 127 c) 148

d) 1108 e) 1596 f) 1600

2. Check whether the following numbers are divisible by 4 or not? (80& 5% 5059
QSogygen 4 % grhoSalar@Er 88° $6490508.)

Number Is divisible by 4 ? Reason
(Yes / No)
(2608;:5) (4 3 grhAoSathdome (z°8290)
(9%/s°))

348 Yes 48 1s a multiple of 4
722

1200

8518

27616

3. Circle the numbers that are divisible by 8.

a) 15361 b) 28824 c) 29632

d) 35976 e) 39948 f) 67845

O @ . htt.maravathger com Sigmatint of We Teachen
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5. FACTORS
AND MULTIPLES

"Sub Topic : Divisibility Rules ]

1) Circle the numbers which are divisible by 6.

a) 1627 b) 1745 c) 4728
d) 5844 e) 6360 f) 12530
g) 13224 h) 35,766 i) 57,330

2) Use divisibility rules and circle the numbers which divide the given number.

a) 516 is divisible by 2 3 4 9 10
b) 3642 is divisible by 3 4 5 6 2

c) 9541 is divisible by 2 3 8 9 10
d) 14,786 is divisible by 2 3 5 6 9
e) 21208 is divisible by 2 3 4 8 10
f) 69820 is divisible by 2 3 4 5 10
g) 96415 is divisible by 2 5 6 10 3

® @ © 0.6L..6
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5. 26563
DN NH e

‘©odo gradodhae b(geen ]

1) 808 V& 6 U grhodad Sogged k)’ Hgod.

) 1627 &) 1745 a) 4728
&) 5844 &) 6360 ¢3) 12530
aw) 13224 aoe) 35,766 ) 57,330

2) 8o& Voggen A8 BB &) TS I8 rhoSathdhos® “ 2oy” iiaéao&

©) 516 % grhoT @o8en 2 3 4 9 10
&) 3642 £ grAos ©oBen 3 4 5 6 2

8) 9541 % grA0T @woBen 2 3 8 9 10
&) 14,786 % g0 @o8e 2 3 5 6 9
&) 21208 % grRod e@oBen 2 3 4 8 10
&) 69820 £ grR0W e08en 2 3 4 5 10
aw) 96415 £ grAoE ©@o8en 2 5 6 10 3
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5. FACTORS
AND MULTIPLES

Sub Topic : Divisibility Rules |
1. Check whether the given number is divisible by 2/3/4/5/6/8/9 or 10. Indicate by a

mark « or X mark in the appropriate column. (One is done for you)

Number 2 3 4 5 6 8 9 10

97652 v X v X X X X X

640

1176

8118

19746

28755

30630

74629

78900

981274

2) Fill in the blanks with any suitable digit to make the number divisible :
a) By5:7164 , 32197 b) By3:1 43 47 05, 316

® @ O @.2.0
- — ips/amarava Gooclcher.com . W“ﬁmng"‘
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5. 26563
OO HHPen

©odo : gradahar :6:°t§°e>a]
1) 388 J08D Joggen 20 ©o80d Frhodaiecdr 88 v  rhodald &8 x
D% Gowbod.

Loz 2 3 4 5 6 8 9 10

97652 v X v X X X X X

640

1176

8118

19746

28755

30630

74629

78900

981274

2) 3Ry ©o8u& rAoSarruod grdd $OFE woBed® Hroood.

©) 53:7164 , 32197 @) 335 : 1 43 47 05, 316

=) 63 : 428 9 52 721 &) 43 12462 91 . 670
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5. FACTORS
AND MULTIPLES

'Sub Topic : Divisibility Rules (zradchae dr(gees) ]
1. Determine whether each of the following numbers is divisible by 1,2,3,5,9 or 10
without doing actual division. (35550 Rhoms 8od Qoggew 1, 2, 3, 5, 9
S 10 o8 F8&° rAcSalardr Trahod.)

a) 126 b) 257 ¢) 430 d) 535
e) 729 f) 745 g) 896 h) 945
i) 4580 i) 6331 k) 7952 1) 8000

2. Circle A, B, C or D. Which number satisfies the given conditions?

(A, B, C,D o8 0G5 T8 “Goky” $408.)

a) Divisible by 1,3 and 5 (1, 3 £8¢&» 5 o grAoSal Sogs )
A. 10 B. 93 C. 45 D. 54

b) Divisible by 2,3 and 9 (2, 3 £8c%» 9 o FrAoSal Sogyg )
A. 18 B. 9 C. 6 D. 60

¢) Divisible by 2,5and 10 (2, 5 $:8c%0 10 oF grhosahd Sogg )
A. 406 B. 400 C. 205 D. 716

d) Divisible by 2,3,5 and 10 (2, 3, 5 £:80%% 10 o3 grAcSaE Qogy )
A. 708 B. 65 C. 200 D. 600

e ® ¢ 9.5.0
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5. FACTORS
AND MULTIPLES

'Sub Topic : Multiples (iH8een) ]

1. Write the first five multiples of ...... (808 Dogge Indd 5 ibederen T°aLoA.)
a) 5: 5, 10, 15, 20, 25
b) 8:
c) 9:
d) 13:
e) 20:
f) 25:

2. Write the first five odd multiples of (808 Sogge 3088 5 B hHBpen T°eH0d. )
a) 7: 7,21,35,49,63....
b) 3:
c) 5:
d) 9:
e) 13:

3. Write the first five even multiples of (80& Sogge® Ini& 5 X8 ihlderen T°chob. )
a) 3: 6,12,18,24,30.....
b) 7:
c) 9:
d) 15:
e) 21:

4. Round the multiples of 12 in the given numbers.

(808 S° 12 hdero “oX)” Hiod.)

48 56 58 78 84 86 96

O © © L.0. .. ..
htthsZ/a thiteaaHer. '
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5. FACTORS
AND MULTIPLES

Sub Topic : Common Multiples ]
1. Write the first five common multiples of the following numbers.

a) Sand 6

The multiples of 5 are :

The multiples of 6 are :

Common multiples of 5 and 6 are :

b) 6 and 15

The multiples of 6 are :

The multiples of 15 are :

Common multiples of 6 and 15 are :

¢) 8and 20

The multiples of 8 are :

The multiples of 20 are :

Common multiples of 8 and 20 are :

d) 6 and 10

The multiples of 6 are :

The multiples of 10 are :

Common multiples of 6 and10 are :

. O
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5. 26563
DN NH e

r

®0J0 : zi;s%w’e:o]

1. 808 Vogge I0&E 5 hderenr Trahod.
®) 5 05w 6

5 Hedeeen

6 HParen

5 $080%» 6 © ééa&& 0692300
@) 6 Hdck» 15

6 HParen

15 Kodaren

6 0BA%» 15 o (%563&& (92692300

z) 8 Hdcsw 20

8 Hdeeen

20 Koedeen

8 0d%» 20 o (%563&& (92692300
&3) 6 Sodcs» 10

6 HDaPen

10 Kodaeen

6 00%» 10 o 6563&& (92692300
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5. FACTORS
AND MULTIPLES

'Sub Topic : Common Multiples ]

1. Write the multiples of the given numbers. Enter them in the circles. Write the

common multiples in the common area.
a) Sand 6 Common Multiples

Multiples of 5 Multiples of 6

Multiples of 5 =
Multiples of 6 =

Common multiples of 5 and 6 =

Multiples of 3 and Multiples of 5 _
Multiples of 3 Multiples of 5

b) 3 and 5
Multiples of 3 =

Multiples of 5 =

Common multiples of 3 and 5 =

Multiples of 2 and Multiples of 7 Multiples of 2 Multiples of 7
¢) 2and7

Multiples of 2 =
Multiples of 7 =

Common multiples of 2 and 7 =

Multiples of 20 and Multiples of 30 Multiples of 20 Multiples of 30

d) 20 and 30
Multiples of 20 =

Multiples of 30 =

Common multiples of 20 and 30 =

® @ O @.2.0
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5. 26563
DN NH e

reaoo%o : eéa&& Iﬁe%a‘e»]

1. 808 a%eas Yogge ihideren Toahol. O Yonodd ée)a:pés TR, ééa&& HAerod
é;éaé& gei5oS® orchod.

®) 5 0% 6
é,zﬁ)é& oedezen
5 ®Xoedazeen 5 Koedazen 6 rOBeeen
6 HPeen
5 $083%» 6 © é:ﬁ:&& oedezeen
@) 3 0% 5
3 KoeBezoen ° 3 KoeBaen 5 eBeen

3 08w 5 © é:ﬁn&& oedeeen

a) 2 Hodcko 7
2 rhederen 7 roederen
7 oedezeen :

2 083w 7 © é:ﬁn&& oedezeen

&) 20 H8c%n 30
20 HeBezeen 30 rpedezen
20 oedeeen :

30 Koedeen :

20 Ho8c5» 30 © ezﬁ:é& oedeeen

(-] ®
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5. FACTORS
AND MULTIPLES

'Sub Topic : Least Common MuItipIe]

1. Find the least common multiple (L.C.M) using multiples.

a) Multiples of 4:

Multiples of 6:

Common multiples of 4 and 6 =

Least Common Multiple (LCM) of 4 and 6 =

b) Multiples of 6:

Multiples of 24:

Common multiples of 6 and 24 =

L.C.Mof6and?24 =

¢) Multiples of 8:

Multiples of 6:

Common multiples of 8 and 6 =

L.CMof8and 6=
d) Multiples of 10 :

Multiples of 23 :

Common multiples of 10 and 23 =

L.C.M of 10 and 23 =
e) Multiples of 16 :

Multiples of 24 :

Common multiples of 16 and 24 =

L.CM of 16 and 24 =

® @ O @.5.0
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DO HB e

‘wodo : BIG LRSS hoBedn (SIH) ]

1. 308 @9 é@‘qg 5‘5:9265 HoB2edn ézéa’é’sz,o& (HoBere 358cHos®)

®) 4 o‘:baé& oedezee)

6 Xo¥), oedaren
4 508050 6 © é;:éaéc% oedeeen =

4 0B 6 © BV ey rHedezo (B.0.10) =

) 6 o‘:‘mégI oedezeen

24 cﬁné& oedeeen

6 0B 24 © ézéaé& oedaeen =

6 500 24 © BIYH Pl rhdaso (8.30.10) =

8) 8 BE) ederen :

6 &mé@ oedeeen

8 08%» 6 © é;:éaé& oedaeen =

8 HB8%» 6 © é&)oé 3°563°26§ oede30 (B.Je. D) =
&) 10 cﬁné& oedezee)

23 cfiné& oedeeen

10 08c%» 23 © éé)é& oedeeen =
10 08050 23 © é@% 3%63%65 oBeso (B.Je.1D) =

&) 16 o?mé& oedazeen

24 cﬁné& oedeeen

16 080%» 24 © éé)&c% oedeeen =

16 8050 24 © I ey rhedeso (8.3r.10) =
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5. FACTORS
AND MULTIPLES

Sub Topic : Factors ]

ACTIVITY :
Observe the grid. All the students should formed into groups and follow given

instructions.

Identify 12 boxes in above grid to form a rectangle and colour it.
The width of this rectangle is  boxes.

What is the length of the rectangle?

Colour a rectangle made of 12 boxes in another way.

Your observations are to be noted in the given table.

Rectangle Length of the Breadth of the Total boxes
rectangle[boxes] rectangle[boxes]
1 12 1 12x1=12
2
3
4

® @ O @.6..0
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OO HD SN
re—oo%o : S'°585°OS'°Q>D]
ée)ééago
Bod &S H0800b08. Aghen (e 288, Sob Srdten ediboomr
D508,

Borh SoHadS égiﬁe‘éaé@@c"éb& 56890508,

5&5};56536@60 ey = ePEe0

525})66536@0 LD = aPE)eD

3B Digore 12 erByen doier HBIY 63&@6@@& BorH Ho%08.

N H88eben 806 :aegéesf’ T°AH0&.

Bysssiso | Bys@sio S Eysssito Sen) g0 Ee
() ()
12 1 12x1=12
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5. FACTORS
AND MULTIPLES

Sub Topic : Factors (sc8sosren) ]
I) Find all the factors for the given numbers. (80& Sogge sPesrozren SRS, )

a) 18 b) 20 c) 24 d) 26
e) 38 f) 42 g) 44 h) 54
i) 64 i) 66 k) 68 I) 100

® @ O @.2.0
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5. FACTORS
AND MULTIPLES

~

Sub Topic : Prime Factorisation ($zrs sederosre Dg5e:l) ]

Express each of the following numbers as product of prime factors. (Prime-

factorisation) o& Soggeds BN Ddogge OO orohol.)

a) 15 b) 16 ¢) 21 d) 22
e) 27 f) 32 g) 33 h) 38
i) 48 i) 36 k) 64 1) 77

O @ . htt.maravathger com Sigmatint of We Teachen
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5. FACTORS
AND MULTIPLES

rSub Topic : Highest Common Factor]

1. Write the factors of the given numbers. Enter them in the circles. Write the
common multiples in the common area and also find Highest Common Factor
(HCF).

a) Factors of 12 and Factors of 26

Common Factors

Factors of 12 are : Factors of 12 Factors of 26

Factors of 26 are :

Common factors of 12 and 26 are :
Highest Common Factor (HCF) 12 and 26 is :
b) Factors of 21 & Factors of 15

Common Factors

Factors Of 21 are : Factors of 21 Factors of 15

Factors of 15 are :

Common factors of 21 and15 are :

HCF of 21 and 15 1s :

¢) Factors of 30 & Factors of 40 Common Factors

Factors of 30 Factors of 40
Factors of 30 are :

Factors of 40 are :

Common factors of 30 and 40 are :
HCF of 30 and 40 1s :
d) Factors of 35 & Factors of 28

Factors of 35 are :

Common Factors

Factors Of 2 8 are : Factors of 35 Factors of 28

Common factors of 35 and28 are :

HCF of 35 and 28 1s :

°c 0 ¢ o8
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oo : oy irty gt (5.5

808 Sogpge sedmrosroln XN 8 (BE) SrdodS Sowohd 26363068 ord,
eé:&& j=leTo0iTet= LTINS eé.;&& ot oo 1108 PPy graseR) EdiPSod.

®) 12 S8d%» 26 o &wé& SPBEPOTLD

12 srdesrosrey - sl sederoseen
12 sedeoseen | 26 sedesposeen

26 se8eseoseeD .

12 S8 26 ﬁzﬁaé& S°8eaP0O5Pe) |

12 So8a%0 26 © KJrgr -

&) 21 58w 15 © &:oé& SPBEPOTOD

21 se8egeosvey .

6263&& S8eP0SPeD

15 sedeseoseen . 21 sedesroseen | 15 se8emoseen

21 6% 15 ézﬁaé& S°8E5P05Pe) |
21 $8350 15 © KJeere -

a) 30 So8c%» 40 © a:oéa j=itefaoitel=L IO

30 se8erosTeY .

6263&& S8e5POSPeN

40 sP8eeoseeD . 30 so8eposeen |40 so8eosoen

30 08650 40 ézﬁaé& 5°8E5P05PeY) |

30 208as» 40 © KJeee &

&3) 35 So0%» 28 © ci:oé& P8Oz

35 se8esrosrey . &8 SeBEPoseeD

28 se¥esrosee) | 35 se8eoseen | 28 sederoseen

35 8% 28 ézﬁaé& So8EPOTReY |

35 00as» 28 © KJeee &
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5. FACTORS
AND MULTIPLES

'Sub Topic : Prime numbers ($zoS ‘éosp?geaa)]

1) List out the first 10 multiples of each of the number.
(8od aXaS Yogge o8& 10 ibederen TPahod.)

a) 6 :

b) 8 :

c)12 :

d) 15 :

e) 50 :

2) Circle the prime numbers. ($a°8 SoggesH “” iS:%o&.)
123 45 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

3) List out the factors of each number. (80& Sogge sPSerozPer T°chod. )

a) 12 b) 15 ) 20

© @§ ¢ 8.9
amarava cher.co
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DN NHwpen

4) Write all the prime numbers below 50. (50 &%) (Hes Loggen TeadHod. )

5) Write all the prime numbers between 50 to 100.

(50 Xoo& 100 8% Ko (Heed éogpéen or0H0&.)

6) What is the sum of prime numbers below 10 ? (10 % (a8 Soage Iwdo DoB?)

7) What is the sum of prime numbers between 10 to 20?

(10 o0& 20 38 Ko (DR Qogge INEo DoE?)

O @ . htt.maravathger com Sigmatint of We Teachen
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5. FACTORS
AND MULTIPLES

rSub Topic : Multiples and Factors (sc8eosren 0805w zios%ave»)]

1) Circle the numbers below which are multiples of 12 (12 iblero®H “%)” Ho&0&.)
24 38 48 70 60 84 72 96 100

2) Circle the numbers given below which are factors of 30.

(30 cﬁwé& j=itetoritet= I Tt=0) “26;26‘;_” '53%0&.)
5 12 8 2 60 6

3) Write Yes / No in the table. (80& é@é S0 ©HB [ 8 © TPhol.)

Number Multiple of 3 Factor of 36
Qogy 3 Hedaso 36 =°8eoso

4

10

12

13

15

21

® @ O @0.6..0
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Sub Topic : Multiples and Factors (sc8eosren 0808w :ios%ave»)]

4) Circle the numbers which are primes? (H&°S SoggesH “Qody” iiaéao& )
16 9 5 11 15 13 7 27 23 2 29

5) Find all the factors of 32. (32 @w¥) sedesrosren Teohol. )

6) Find all the factors of 96. (96 &%) s*Segroseen TPaHoE.)

O @ . htt.maravathger com Sigmatint of We Teachen
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5. FACTORS
AND MULTIPLES

Sub Topic: L.C.M and H.C.F ]
Use prime factorisation method to find the LCM and HCF of the given numbers
(S sebesrosee Dfesd éc‘éé’é&) S3RrAoN 80d Dogge E.3P.1H 8ko H. P, el

ézéags&o&.).

1) 4.,5,24 LCM &.2-.5%) HCF &.3r.e7)
2) 32,34,36 LCM HCF

3) 21,24,36 LCM HCF

4) 10,16,21 LCM HCF

o0 ¢ ego
Arage d Cher.corTlgllet : o& e T

Fair Average Goo




For All Classes New Text Books Open Below Link
https://bit.ly/all-classes-new-text-books

5. FACTORS
AND MULTIPLES

Sub Topic: L.C.M. ]
I) Find LCM for the following numbers. (80& Soggeo ¥.8°.i0 ézéagsz’o&.)

a) 16,28 and 44 b) 39,45 and 54

c) 16,24 and 40 d) 84 and144

e) 72,96 and 120 f) 120 and 168

g) 102,170 and 136 h) 120, 150 and 135

| O O O | @
O @ htmaravathﬂer.com Sigmatint of We Teachen
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5. FACTORS
AND MULTIPLES

'Sub Topic : H.C.F. (ﬁ.@v.w)]

Find the HCF for the following numbers. (80& Sogge #.3°.5° ézé:%sz,o&.)

a) 7,21 and 42 (7,21 605w 42) b) 16, 8 and 20 (16, 8 850 20)
c) 27,18 and 45 (27,18 08050 45) d) 44, 66 and 110 (44, 66 5H8c5%» 110)
e) 48,56 and 72 (48, 56 850 72) f) 84 and144 (84 6a50144)

g) 102, 68 and 136 (102, 68 »8c5w 136) h) 198 and 360 (198 obakw 360)

@ O O O O o
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5. FACTORS
AND MULTIPLES

)

2)

3)

Poor

rSub Topic : Application of LCM and HCF]

Baba attends music classes every 5™ day and dance classes every 3" day in a
month. If he had both music and dance classes on May 5", what would be the
next date on which he would attend both music and dance classes?

What information is given ?

What is to be found ?

Which process do you follow ?

Baba attends music classes every 5™ day and dance classes every 3" day in a
month. If he had both music and dance classes on May 5", what would be the
next date on which he has both music and dance classes?

When did Baba attend music classes ?

When did Baba attend dance classes ?

When did Baba attend both music and dance classes ?

What process help us to get the answer for the problem

Baba attend music classes every 5" day and dance classes every 3 day in the

month. If he had both music and dance classes on May 5%, what will be the next

date on which he has both music and dance classes?

Baba attends music classes on : Every 5" day
Baba attends dance class on : Every 3" day
Baba attend both music and dance classes on : May 5%

To find Baba attend both music and dance classes after May 5% :
What is the process do you select ? find the LCM of 3 and 5
The next date Baba attends both music and dance classes 1s on :

o @ . htt.maravather com Sigmatint of We Teachen
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©0F0 : B.I;.iD, §.r.°0 DAZrijo ]

1.

arer (08 J0St 3§ B oF) SBKE8, 5 S B Voo SBHEE Fesdd w@HB°. Bod
B8KH0E D 5 S SHesdh wond 563‘% PO BoLH SBHEO a8 8% $Besth eHEred?
®) 2 S&raEo BECH?

) AW EHOR°TD?

8) @ (DB &IIBrACTD?

arer (08 J0St 3 § B oF) S8K&8, 5 S &% Voo SBHE8 Fesdd w@HB°. o
SBKEHOSH D 5 S Fedd oawd 263‘% DIPE> Bot BBKHeH a8 e Hesdd wzH?
®) arar ) Blero SoAdo Red HFadh oHEerH?

®) arar ) Berod ) 8 Had wdzek?

B) erer O 8%rd SohBo HOAM &F) SeRe8 HFaxth ©csryH?

&8) ewer S5 O Sl Eéa% Qoh&o HBOs» TRy SR8 el wHBE?

&) B 0y FESEH O HBID SHEPAOTD?

arer (D8 J0St 3§ B ]y SBK&8, 5 S &% DofBo SB8HE8 Fesdd wHB°. Bod
SBEHOSH D 5§ Fesdd eawd éa% PO BOLH SBHEO 2.8 B $Pesdd 0Hmer?
®) PP SoNS0 SPR8 P el wakryh?

®) P T°F) T8 PP Fasdd eakeg?

8) erer HoASo HBK TR 5908 & Blerd et waimgi?

&3) Bo B8RS0 28 Sar HBesdd e—96:3>?3 3 - 5 BB B e BT ?

a) D DB BHFPAOTO?

® @ © 0.4L..6
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5. FACTORS
AND MULTIPLES

rSub Topic : Application of LCM and HCF]

1.

Ans.

Ans.

Poor

Baba attends music classes every 5" day and dance classes every 3" day in every
month. If he had both music and dance classes on May 5", what would be the
next date on which he has both music and dance classes?

On which day of a month did Baba attend for music class?

On which day of a month did Baba attend for dance class?

When did Baba attend both music and dance classes?

How to find Baba attends both music and dance classes after May 5% ?

What process do you select ?

When did Baba attend both classes on same day after May 5%?

Baba attends music classes every 5" day and dance classes every 3™ day in every
month. If he had both music and dance class on May 5%, what would be the next date

on which he has both music and dance classes?

Find the least number which is evenly divided by 10,50,15.

] D

OD : :D .g ] D
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oo ¢ B30, £.3.5° © oSETe ]

L erer (08 J08° 3 &% ool S8K88, 5 $ 8% Yoo B8K88 Fesdd @HBE. Bk
B8KHOE o 5 S SBesdh ewond Eﬁa% DNP Boh SBHE 28 BP SPesth wdHmerh?

arar Sohdo SBKBY St edhy Seren

arar °N) BBHBE et ey Seren

e HoNB0 HOAD Tx) BBHE8 el edhy &e?

ESoiPrerts AHRPAOD (HIBD

D - b Soaws 563@%) B0 SEHSHOE SBestd e—s@pbé &Be20?

2. erer (B8 J08° 3§ Bl woX) B8KBE, 5 S &% JoABo BBHOE Fe wHED. Bod
B8KHOE o 5 S SBestdh ewond Eﬁa% DNP B SBHE 28 BP SPesth ewdHmerh?

2.
3. 10, 15, 50 o3F grholaa é:()og L0gg0 é;éa?&o&.
2.

@ O @.5.0
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5. FACTORS
AND MULTIPLES

Sub Topic : Application of LCM and HCF]

1)

2)

o © ©
ht

Poor

Find the least number which when evenly divided by 10, 20 and 15 leave the

reminder of 5 in each case.

Given three numbers

The reminder obtained after every division

To find the required least number, which process do you select?

The required least number is :

At a special day in an amusement park, every visitor gets a gift bag with an item.

Some of the bags have item, in them as shown in the following table.

Item Bags

Hat Every 2" visitor
T-shirt Every 7™ visitor
Ball Every 10% visitor

How often will a bag contain all the three items?

Hat 1s received by every visitor.
T- Shirt 1s received by every visitor.
Ball is received by every visitor.

If you want to know the person who receives a gift bag containing all the three items,

What is the process do you select to find such a bag with three items?

Which no. of person does receive a gift bag contain three gifts :

tps:/l@maravat
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©od0o : B. P, 8.3 & o ISRrHo ]
@) 10, 15, 50 oF grholaa é;‘og Soggo ééaé‘sgro&?

[ Jogy -

FPAOST Hif) o

SR8 Yogygdy BMPHLH O (HBcH GIRBrACTed?

ISIINISEVN) éé'\)ag éoap?g :

©) ISR BOAOT arE) Joi (©H8 DoBHBIE 2.8 2.8 508 S ErLrodomedd. (H8
ey S0t B Syden 8od KoK DForr &THom.

PO 2250

%2 8 Bokd DouLEY
&-3§ ©8 785 308818
oS ©8 105 So88EH8

) YoBHBNE K5oretdh Hisyen &X) egh @oth&0H?

1L &% 8 Bo8BE8
2. & - %5 ®8 BoBEE8
3. =& (%8 BoBEE8

4. S SQgden &) @°gh 03 DoBHDY EHFPSEA8 0 (HBIDHS SDBRARD.

5. B0 100 Hood éoc‘éégé)e)é‘s Bty H03)en @oHES K58 DHTR

® @ O @.5.0
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5. FACTORS
AND MULTIPLES

rSub Topic : Application of LCM and HCF (.3r.i%, 8.30.5° © aaasoﬁo)]

1) What is the minimum amount required to share equally among two, three, four, five,
six, seven members without leaving any? (385, Z0rHBd, Senrhdd, @HHhEd, BBIHLD,
DHHE BFedorr Hothdhar) el Graron Erwe fedore ¢oi 80 Iwdo Jod?)

Ans.

2) Find the largest number that divides 96 and 144 without leaving a remiander.
(96 08550 144 o5 grA0D e—9e"§'€b£g éospééa é?éoé‘sgro&.)
Ans.

O @ . htt.maravathger com Sigmatint of We Teachen
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3) What is the LCM of the numbers from 1 to 10?7 (1 &o& 10 8% Ko Logge &.&».1H

ééags&o&. )
Ans.

4) What is the least number if it is added to 3, then the sum is divisible by 15 , 21 and 25
@ éé'\)a’oq Loggd 3 EODE @b 15, 21 H01 25 ©F grAoStHEod?)
Ans.

® @ O @.6..0
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5. FACTORS
AND MULTIPLES
rASSESSMENT]
1. Fill in the blanks with suitable answers:

a) is the smallest composite number .

b) The number of prime number less than 20 are

c) Even number + Even number =

d) Even number + Odd number =

e) 0Odd number + Odd number =

) 3,6,9,12,15................. are multiples of

g) Write the factors of 12

h) LCM of3 and 9 is

1) LCM of two prime numbers is

j) HCF of 3 and 9 is

k) HCF of two prime numbers is

Write T for True and F for False in the brackets.

a) 1 is a multiple of every number

b) There are infinite number of multiples of a number
c) Every number is a multiple of itself

d) 2,3,5,7,11,13,17 and 19 are prime numbers

e) 6,8,10,12,20 are prime numbers

f) 14 is a composite number

g) The smallest Odd composite number is 9

h) The number 2427 is divisible by 6

1) Any number that is divisible by 6 is divisible by 3

j) 2 is only even prime number

o @ . htt.maravather com
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g 80|

1. 808 grded $rooPod.
®) o8 z‘i)écl docsnd éosp?g

©) 20 &% FBeed Domgen A?

8) DB Dogyg + DB Jogy =

&) B Jogyg + B Qdogyg =

&) B éogpé + 22 éospé

&) 3,6, 9, 12, 15 ..coeeininn.l. e = Q) o3 ezeen

aw) 12 @BnE) sederoseen
ae) 3 S0k 9 Do) .10 =
Q) Bod (Herd Sogge B =
Q) 3 dckn 9 Do) K.Je.ge =

0) Bod (Heesd Sogge K.J.ge =
2. 80b arovgen JIKIr (X)), ©dERr (v) Teahol.
®) 1 (D8 éosp?géa B,

©) a8 Doggd ododII e3ePen &08PoM.

8) (58 Josyg QLD KHedesm.

&) 2,3,5,7,11,13,17 0005» 19 en @’aqﬁééospé@.
&) 6,8,10,12,20 en (Hed éosp?gen.

&8) 14 Socsng éosp?g.

2») 9 o8 @?6& 22 docsnd éosp?s.

o) 2427 @éaéosp?g 6 3 erR0BE08.

Q) (D& éosp?g 6 T 0001 3 T erRoSeEod.
Q) 2 SrER ¥8 (Hed Loy

® @ © 0.4L..6
- — ips/amarava C_;oodcher.com / W%I&Twﬂa
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5. FACTORS
AND MULTIPLES

3. Tick ( v ) the correct answers

a) Last prime number between 1 and 100 is
a) 97 b) 89 c) 99 d) 93

b) Sum of 5% multiple of 9 and 7* multiple of 6 is
a) 90 b) 94 c) &7 d) 100

c) Which one of the following is not correct :
a) 2 is the least prime b) the LCM of 6 and 12 is 12
c) 7 1sthe HCF of 14 and 21 d) 1005 is divisible by 10

d) HCF of 12 and 18

a) 12 b) 18 c) 4 d) 6

e) The prime factorisation of 1260 is

a) 4x3x3x5x7 b) 2x2x9x5x3x5
¢) 4x9x5x7 d) 2x2x3x3x5x7

f) HCF of 130,520 and 845.

a) 65 b) 67 ) 55 d) 50

g) LCM of 24,36,56 and 81.

a) 4500 b) 4356 c) 4536 d) None of these
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3. [0S Jdrerkon (V) iy wool.

1)

2)

3)

4)

5)

6)

1 008 100 $8% Ko Heed Soggos® HB66

®) 97 ©) 89 3) 99 &) 93

9 BwE) 5 & rHedezo HHOAL 6 BwE) 7 Hedesdne Sndo

®) 90 ©) 94 5) 87 &) 100
808 S’ KOO

®) ©8 AJ) (Beed Sogy 2 s) 6,12 © .. 12

5) 14, 21 © K.p.q0 - 7 &) 1005 10 I grAodai&éos.

12 085 18 o K.Jr.g®

) 12 &) 18 s 4 &) 6
1260 &wéZT (DS se8ege0s ©80

®) 4x3x3x5x7 ) 2XxX2x9x5x3x5
8) 4x9x5x7 &) 2x2x3x3x5xT

130, 520 0050 845 EwE) .. 8P

&) 65 ) 67 1) b5 &) 50

7) 24,36,56 835w 81 © B.Jr.iH

D

®) 4500 &) 4356 8) 4536 &) 4444

® © ©.6..0
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